Income Taxation - Summary 

What is a tax? 

Re Eurig Estates

Facts:  The Ontario government was collecting probate fees.  If you were the executor of a will, you would collect the assets, pay debts and pay people named in the will.  To get the Ontario court imprimatur, you would have to pay a probate fee.  If you die intestate, someone else can apply for an estate certificate to become executor.  Since the 1950s, the Ontario government changes probate fees.  They used to be modest, but when the NDP government came in, it changed from being a flat rate to a progressive fee.  Eurig’s daughter was the executrix of the will.  She went to court and the probate fees were calculated to be several thousand dollars.  She said that it was a tax and it was unconstitutional.  It was not passed by the legislature.  The judges concluded that it was a tax and it was unconstitutional.  But you can get back your taxes that have now been labeled unconstitutional unless you paid it under protest.  Since she did, she got her money back.

Why was the probate fee a tax?  (Distinguish tax from a fee paid for a service rendered).

The SCC said in Lawson that a tax was:

· Enforceable by law – this means that it was compulsory.  But it was not compulsory for a will to be probated.  The appellant argued that it was compulsory because it was a necessity if the estate were complicated – it was a practical and functional requirement, especially if the will was intestate.  

· Imposed under the authority of legislation

· Levied by a public body

· Intended for a public purpose.  This was the only determinant to discern if an item was a tax.   The benefits should go to all people.  In this case, it was only an imprimatur, and there had to be a reasonable relationship between the service provided and the amount charged.  Here, there wasn’t!  The money went into general revenue and paid for the administration of justice – a civil jurisdiction, and a public benefit.  Therefore, it was a tax and therefore, ultra vires.

Public sector ordering process

The tax system is designed to raise revenue.  The private sector ordering process is the best way to generate wealth.  However, we use a public ordering process because of problems with private markets, fluctuations in price, etc.  In the private sector ordering process, value is based on supply and demand.  The tax system is designed to channel funds to even out wealth generated.  (e.g. to even out monetary v. social value – Mother Teresa – doesn’t earn much money, but does lots of good;  Martina Hingis does earn lots of money, but not much societal good – so the tax system tries to balance this).  It is a regulatory system.  You take money from outcomes of the private sector ordering process and alter the distribution of wealth based on some theory of distributive justice.  Liberal democracies = equality of opportunity.  Taxes are a price we pay for certain public goods.

· Idea of IT is to collect private resources and spend it for the collective public benefit (environmental protection, defence, education, healthcare, etc.) Like "user fees" with government as private producer.

· Other ways to raise revenue include debt and printing more money.

· Redistributive function: provides equality of opportunity by taxation and transfer payments (e.g. direct grants, welfare, etc.)

· Most regulations are implicit taxes (eg. minimum wage regulation, tariff regulations, etc.) 

Tax Policy Criteria – is it a good tax system?

Generally comprised of:

1. Equity

2. Efficiency consequences

3. Cost of administration, compliance costs

Equity : Horizontal Equity:  The manner in which a tax effects the state of well being of two similarly situated people.  What is “well-being” and “similarly situated”?  Vertical equity : you treat two people who are differently situated in terms of well-being differently.  As your well-being increases, you take more from because the margin of well-being is worth less to you.

Economic Efficiency:

The pre-tax allocation of resources is optimal.  We want decisions to made not taking taxes into consideration.  The theory is that you want to leave everyone the same way off after taxes as before.  All forms of well-being should be taxed more or less the same (all wealth-increasing activities and transactions).  Economists though look at elasticity of decision with respect to the imposition of tax.  There are elastic decisions (e.g.  choice of entertainment) and inelastic decisions (e.g. buying consumer goods).  You can’t tax activities sensitive to the tax system because it will alter pre-tax decisions – this is the Optimum Tax Theory.  The concept of efficiency that we use is that all activities will be taxed in the same way.

Two important factors for the accumulation of capital are: 

1. The substitutability of labour and leisure

2. The substitutability of save or consume now  

Possible tax bases:

1. Wealth: Tax on net worth, assets minus liabilities.  It can be taxed when wealth is transferred or there could be an annual wealth tax.  eg. inheritance or gift taxes. No wealth taxes in Canada, only in U.S.   We tax increations to wealth, but this is income.  (There is no comprehensive wealth tax, but municipal property taxes to exist, probate fees, property tax funds municipalities.)   A wealth tax is a good way to redistribute wealth.  But, it does not tax human capital (personal skills, marketability, etc). Problems in valuation of assets.   It encourages current consumption and discourages accumulation of assets. 

2. Consumption: eg. G.S.T. Consumption is goods & services purchased for personal gratification.  A consumption tax encourages saving – deferred consumption.  Problems:  consumption tax favours the wealthy because they can accumulate savings.  The rest of us have to consume earnings to buy goods and services.  It is not very distributive and horizontally inequitable because savings are left out of tax income.  

3. Income: Main base in Canada. Current consumption + accretions to wealth.  Most difficult to administer.

History

The tax system has a quasi-constitutional status.  By the Constitution Act of 1867, the provinces can levy taxes: s.92 gives provinces right to levy direct taxes within the provinces;  s.91 gives federal government power over direct and indirect (eg. customs & excise) taxes.  To ensure that retail tax could be distinguished legally as a direct tax, the legal incidence in on the consumer;  the retailer is viewed as a mere collection agent (provinces).  Income taxes are direct taxes which are levied by both the federal government and the provinces.  Provinces also have retail sales tax – these are sometimes harmonised. Provincial income tax piggy-backs off federal income tax.

In 1917, income tax was instituted by the federal government, but before that, provinces levied taxes.  Between the two wars, there was talk of a tax collection agreement.  After World War II, the federal and provincial governments got together.  One base was used to define income in federal regulations.  The provinces set their own tax bases (usually similar to the federal base.)  Provincial tax is a percentage of federal tax.  Al provinces have not signed on to the tax collecting agreement.  Québec has its own corporate and provinicial income tax structures.  The provincial tax base is similar to the federal one though.  Alberta, Ontario and Québec have not signed with respect to corporate income tax – but the base they use is also similar to the federal government’s.

In 1966, there was a central commission organised by the government to study the Canadian tax system.  Henry Carter – a Bay St. accountant – produced the report.  1971 saw the last major reform (as a result of the Carter commission).  1991 introduced the GST.

The Department of Finance v. Revenue Canada

The Department of Finance sets up tax policy, it makes the laws and statutes (drafts legislation).  Revenue Canada applies, interprets and enforces tax law on behalf of the government.  Revenue does publish official bulletins of how it interprets the law.  These can be contested though.  In the UK, Inland Revenue does both.  In the US, the Treasury Department writes the law and the IRS applies it.

In 1917, a system of self-assessment was instituted.  (Contrast with Eastern Europe – 100% audit coverage).  Canada, the US and other Commonwealth countries have a system of self-assessment.  Audit standards are higher for corporate entities (continual audit) but regarding personal income tax, the assumption is made that the tax payer is honest – and this is usually the case. Tax return reconciles amount withheld with amount payable.

Obligations

· Section 150(1) – The Employer withholds the estimated tax and remits it on your behalf.

· Part XVI of the Act contains administration and enforcement provisions.  The citizen is obliged to file a tax return and to take credit for tax that has been withheld or pay government for taxes unpaid.  Unpaid taxes are compounded daily with 2% interest.

· Business also use self-assessment.  They can pay taxes in installments.

· Non-resident liability  s.2(3) – if employed in Canada, carry out business in Canada or dispose of taxable Canadian property.

Auditing

· There is major audit coverage for large corporations, less for small businesses and rarely for individuals.  

· If you are audited, Revenue Canada is obligated to issue Notice of Assessment within 90 days.  There is a 3-year limitation period absent fraud.  Reassessment can be contested if you file a Notice of Objection within 90 days of reassessment.  Revenue Canada has 90 days to confirm, vary or vacate the reassessment. If you disagree with the audit, go to Tax Court of Canada.

· Informal procedure for amounts under $14,500. Only avenue for appeal is judicial review. Expeditious process dispenses with the matter fast. No precedential value – merely dispute resolution format.  No rules of evidence apply.  NB that the amount includes interest and penalties – the interest can often be more than the tax.

· Formal Procedure – true litigation court process for higher amounts with lawyers, rules of evidence - trial format.

· 90 days to appeal to Federal Court of Appeal
· 90 days to request leave to appeal to S.C.C.
· Before 1971, you would go to the Exchequer Court – now the Tax Court of Canada.  Before 1991, would could go to Tax Court and then go to Appeal Court (Federal Court, trial division).


Haig-Simons "Income" = increase in wealth over the period + taxable consumption. 

Three technical tax policy criteria: 

(1) Equity: Horizontal [treat like cases alike] and vertical [treat unequals unequally];
(2) Efficiency: Resources should be put to their highest value; and
(3) Simplicity: in administration and compliance. 





Tax Policy Benchmarks and General Principles 

Five design features in every tax: 

1. Rate structure; 

2. taxation period; 

3. tax base; (what are you going to tax?)

4. unit to be taxed; (whom are you going to tax?) and 

5. enforcement and administration, liability and jurisdiction to tax.  (To what extent do you impose tax? – applies to international taxation). 

The tax unit is the individual, not the family.  This is the pattern in most countries.  The US had an option to file as a family.  In Canada, the family is taken into account in some aspects.  What about fictional legal entities that pool resources eg.  Trusts, partnerships and corporations?

“Tax payer” is to include any person whether or not liable to pay tax.

“Person” includes corporation (the word “includes” makes the definition non-exhaustive.

S. 249(i) - The tax period is the calendar year for individuals.  For corporations, it is any 12 month period – usually the fiscal year.

Tax base – s. 2(i) – An income tax shall be paid on the taxable income.  S. 248(i) contains general definitions.

“Person” includes corporation (the word “includes” makes the definition non-exhaustive.

“Tax payer” is to include any person whether or not liable to pay tax.

S.117 – the rate structure.

Subsection ii – “taxable income” = income + additions minus deductions permitted by Division C.

S.3 – “Income” – the source content is determined by rules.  

· Income = income from employment + business + property + taxable capital gains – losses.

· Taxable Income = Income – tax credits and special deductions

The rates are then used to calculate tax.


Liability To Tax - Residence vs. Source-Basis of Taxation 
Jurisdiction  s.2(i) and (ii) and S. 3 Par. A

Income inside and outside Canada are taxed.  Canada also taxes certain non-resident income:

2(iii) – employed in Canada, disposed of taxable Canadian property, carried out business in Canada.

Part XII s.212 to 217 deals with Non-residents – Passive property income.

Four Conventional Sources of Income

1. Income from labour (human capital)

2. Income from carrying out business (human + physical capital)

3. Income from property (current return of physical capital e.g. rent, stocks, interest)

4. Gains/losses from the sell of property (Allowable taxable losses/taxable capital gains)

Non-residents are subject to the four traditional sources subject to s.2(3).  Part XIII deals with property.  Canadian residents must withhold tax from payment to non-resident.  (This is an enforcement mechanism).

Double taxation

This is when the same amount is taxed by two countries.  There is an agreement between the US and Canada.  The system mitigates “excessive taxation” since it promotes efficient allocation of resources.  The first right to tax is from the host country.  The country of residence must provide relief – usually, the resident country only claims the difference.  So if the US has 40% income tax, and Canada has 50%, you pay Canada 50%  and Canada will pay the US 40%.  If 50% US and 40% Canada, no deductions of 10% in Canada!  Tax treaties between countries arrange the system of jurisdicion.

Why have world-wide taxation in Canada?

Benefits from infrastructure theory.  An historic, practical evolution.


Tax Reduction Problem

Imagine an Air Canada pilot based in Toronto.  He has a mother in Toronto, is divorced with two adult children in Calgary.  He is sold a tax planning package:

· Sell house in TO

· Purchase condo in Buffalo

· Get Costa Rican citizenship and passport

· Get rid of Canadian bank accounts – move them to the US

· Sever ties with Canadian social clubs

· Transfer cottage in Muskoka to his mother

The pilot flies only international routes from TO.  He stays in a hotel in TO between flights.  He spends time in the Muskoka cottage, but less than 180 days.  He has a Canadian pension plan through Air Canada and some stocks on the Toronto Stock Exchange.

Analysis

Can we sever Canadian residency?  Then there would only be a non-resident obligation on Canadian source income.  Has he severed Canadian residency?  See the case law.  It is hard to sever residency if you are a resident.  

· S.250(3) “ordinary resident” – it allows the judge to look at relevant factors over more than just the year at issue.

· S.250(1)(a) – a deeming rule – 183 days or more soujourn.  The deeming rule alters the ordinary meaning of the term “soujourn” (temporary resident).  S.250(1)(a) assumes that a presence of 183 days equals residency and therefore worldwide taxation.  (Note that a tie-breaker rule in tax treaties might override the soujourning rule (consider the European backpacker).

Assume that the pilot attempts to sever residence on July 1, 1998.  How does the soujourning rule apply?

The soujourning rule does not apply in that year because he was still a resident (s.250(1)(a)).  The pilot did not soujourn – he was a resident up until the time he left.  Soujourning is not residency within the ordinary meaning of the term.  The soujourning rule applies after you sever residency, and it doesn’t apply in the year residency has been severed.  (s.2(1) “anytime you are resident during the fiscal year”)

Part taxation rule

s.114 (a special residents rule) divides up the time period when you were a resident.  After that, you will be taxed only on Canadian income.  This rule will not apply if you are within the soujourning rule because you will be deemed a resident throughout the year.  S.114 is a special residents rule. 

What constitutes a day?

The advice to stay less than 183 days is only relevant for future taxation periods.  RNL Food Distribution:  Soujourning day does not equal commuting.  But if you spent the night at a place, then it would count.  Does involuntary stay in a hospital count?  Unknown.  16:00 to 07:00 counts as two days (work-related commute does not count).  

Tax to non-residents

So if the pilot is a non-resident, is there anything to tax?  You can tax income from employment in Canada.  Since he work international flights, he would be taxed just for the time he spent travelling in Canadian airspace.

S.212(1) par. 8 – Where a resident pays a non-resident, the employee will withhold 25% tax.  There is a source tax to 25% of the pension income accumulated by Canadian Non-resident employee.  Not taxed for residents of the UK or Ireland, so many pilots moved to the UK or Ireland to avoid withholding 25% of their pension.

Cottage  :  Do private law relationships affect tax law?  Perhaps for tax purposes, the cottage was not transferred at all!


Summary of Residency rules

Section 2(1) creates income tax payable by persons resident in Canada. This creates the unit [every person resident in Canada], base [taxable income] and period [taxation]. 

Liability of non-residents - see ss. 2(3) and 115
s. 250(1)(a): Sojourning = residing on a temporary basis. Physical presence is insufficient.
s. 250(3): "ordinarily resident" -- case-law factors:
(1) past & present habits of life
(2) regularity & length of visits
(3) ties over extended period
(4) ties with Canada (social, economic, family) 

Revenue Canada has an administrative rule (no statutory basis) that if ties or residency have been severed for 2 years, no longer resident.  

Residency is determined by 

1. general provisions and factors test; 

2. "bright lines" [2 year administrative, 183 day statutory, etc.]; 

3. "ordinarily resident" - look at factors beyond taxation year [see Reader case, factors above] 

Sojourning rule is not exclusive. It is intended for those not resident under the ordinary factors test. ie. temporary visitors and non-residents. 

Income – s.9 to 37 – Income Calculation rules for business

Income = market value of rights exercised in consumption + change in value of store of property rights between the beginning and end of the period in question.  Therfore current consumption + savings

Haig-Simons assumes that we all live to consume. 

Under the "normative" basis of taxation, we tax those who are able to pay.


Distributive goals v. efficiency consequences gives rise to a policy debate on

PRIVATE
Consumption Tax (Personal Expenditure Tax) PET
Personal Income Tax (PIT)

· Will not tax deferred consumption until it occurs

· filed personally based on taxable income for the year

· savings only taxed when consumed.
· taxes consumption + accumulated wealth (savings)

· filed personally based on taxable income for the year

eg. Assume $100 earned salary and a 10% pre-tax interest rate 

PRIVATE
No Tax World



Year 1

Year 2

Current consumption
Deferred Consumption
Results

$100 salary
$100 salary
$10 interest

$100 value
$100 value
$110 value



Ratio = 50:55

Personal Income Tax Rate of 50%
[taxes after-tax capital and return on that capital]



Year 1 

Year 2

Current consumption
Deferred Consumption
Results

$100 salary
$100 salary
$5 interest

$50 tax
$50 tax
$2.50 tax on interest

$50 after-tax
$50 after-tax
$52.50 after-tax



Ratio = 50:52.50

Consumption Tax
[does not tax accumulation]



Year 1

Year 2

Current Consumption
Deferred Consumption
Results

$100 salary
$100 salary
$10 interest

$50 tax
($100) deduction for savings 
$100 salary

$50 after-tax
$100 after-tax (no tax) – like RRSP
When spent, $55 tax



Ratio = 50:55 – the same as in a no tax world

A consumption tax is neutral whether to defer or to consume now.  It will therefore encourage savings.  To what extent does this effect economic efficiencies, deferred consumption?

· RRSPs are a consumption tax treatment of savings. Contributions and interest are not taxed until removed from the RSP (ie. until spent). 

· Section 3 is key to determining "what is income?". It attempts to translate Haig-Simons "use" concept of income to a "source" concept of income. 

· Section 2 provides that:
(1) if resident at any time in the taxation year, tax is payable on "taxable income"
(2) "taxable income" = income - Division C deductions
(3) non-residents pay tax on Canadian source income under Division D, section 115.
· Sources of income under section 3:
(a) employment, business or property (income only, NOT LOSSES);
(b) gain or loss from disposition of capital property
** (a) and (b) are the 4 conventional sources of income **
(c) add positive amounts under (a) and (b) and subtract special deductions under Subdivision e.
(d) losses from business, property and employment
(e) income - current year losses
(f) nil income


Legislative concept of income

S.3 of the Act (a summary of the entire course!) describes a global income tax.  The UK has a scheduler system (which was the original Canadian form).  The current Canadian model is like the American one – a global concept of income with some scheduler elements (eg. The part dealing with capital gains).


Par. A lists the sources of income

Par. B offset losses from income (current losses offset against current income)  Taxable capital gains minus allowable taxable losses.

The Global income tax system uses net accretion to taxable income.

The Scheduler system has separate sections for the various sources of income e.g. employment, business, etc.  So the gains from one source can’t offset the losses from another source.  Previously in the UK, you had to file separate tax returns – they had the same rates.  Now, you file one return but you separate the sources of income by schedule.

Role of the Courts

Haig-Simons – I don’t care where you got it, how did you use it? – a use perspective on income.  Income tax legislature looks at the sources of funds (there are enumerated sources).  However, the Act does have a use of funds analysis.

Other amounts: Gifts, bequests, prizes, windfalls, damages, etc. 

· Are gifts income?  To the recipient?  Taxable consumption to the donor is non-deductible (except for registered charities).  It is income to the donee so it is taxable.  So there is double taxation in private transactions.  

· S.5 – gratuities, tips, etc. are taxable in employment situations.  But if there is not employment relationship, e.g. if there is a familial relationship, it is not taxable.

Why are familial gifts exempt?
Income = national income.  Gifts, gambling, etc is just a transfer of wealth – there is no increase to the Gross Domestic Product.  For gifts, you treat the family as the taxable unit.  The national income is effected when wealth transfers between taxable units.  In a family, wealth transfers within a taxable unit.  So gifts on family members are not taxed on the donee.

Gifts do not fit into any of the traditional sources of income, but could be caught by the words "without restricting the generality of the foregoing." But Canadian courts have not included gifts as income because they are not recurring or periodic. 

Therefore, non-taxable gains include:

1. gifts (because transferor doesn't get taxed. You can only give after-tax income, so already indirectly taxed)

2. gambling gains (non-periodic)

3. insurance proceeds, windfalls, proceeds of crime

4. strike pay (Fries case)

5. damages (Schwartz and Bellingham cases)

6. non-taxable portion of capital gains

7. imputed income 

Fries and Kranswick
Facts:  LCBO members went on a sympathy strike.  Fries was an employee.  Under the Union, he had funds accumulated over the years and was therefore paid a strike fee – this amounted to $850.  Is this income?

Held:  The court of appeal said it should be income because there is a source (non-enumerated) – a fund established by the Union.  (The trial judge said Fries was an employee of the Union; the court of appeal said no!  He was an employee of LCBO).  Union dues accumulated on a tax free basis was a source of income.  You have to tax this “independent separate source of income” sometime!  BUT the SCC said that it is not income and therefore non-taxable.  There was sympathy from the courts.

NB :  Unemployment insurance is taxable.  It might be covered by zero rate brackets but it is otherwise taxable.

Point

He embezzled funds.  These are the proceeds of theft, so is it  income?  It is a windfall since it doesn’t fit the enumerated sources (this is the tax-payer’s argument).  But you could argue that his business is the business of crime and that that is his income.  Criminal law would say pay it all back (no deductions of course).  Prostitution could also be a business?

Other Windfalls

· Personal Injury awards are not income and non taxable (compensation for human capital)

· Scholarships are taxable  s.56(1).  Parliament (the Department of Finance) adds to a list of items that would not otherwise be income and makes them taxable.

· Personal injury awards except until age 18.  Structured settlements take this into account (s.81).

· Expropriation awards (Bellingham) – you get compensation for the value of property expropriated from the government.  If the government is difficult in making an offer, the court can allot punitive damages from the government.  The punitive damages are a windfall.

· Damage award received (not as a result of employment) are non-taxable (Schwartz)
· Imputed income (you provide your own services) eg. You fix your own sink, you grow your own garden – non-taxable.


Readings: Materials, pp. 66-68 and Fries v. The Queen, SM, pp. 3-6 

Types of Property for income tax purposes 

Section 3(a) income sources:

1. Employment: labour / human capital - not recognized as property 

Business and property income calculations are largely the same. 
2. Business: combination of capital (financial and human) and labour

3. Property: strictly from current return on physical financial capital held passively. eg. dividends or sale of (shares). Interest from GIC's is considered property income. 

Types of property for calculating business and property income:
(i) inventory - relevant only to business income
(ii) depreciable property - relevant to business and property income. Type of capital property, not purchased primarily for sale, but put in use for the generation of income. This is the type of property that is expected to waste away over time 
(iii) eligible capital property - a series of intangible property relevant only to the calculation of business income. 
4. Section 3(b) – Taxable Capital gains and losses (realized on the disposition of property)

· A gain or loss from the disposition of inventory is business income.   Shares generate two sources of income:  dividends (return on more or less annual basis) and capital gains/capital losses (an increase in the value realised by base payment).  Shares are not inventory. Gain or loss from the disposition of shares is capital gains and loss. 

(1) non-depreciable capital property (eg. land & shares) ‚ inventory, provided you are not in the business of buying and selling shares or land. It is assumed that these will not go down in value on a systematic basis. You cannot write off the cost of purchasing land or shares until the time they are sold. 

(2) depreciable capital property is relevant to calculation of capital gains. If you sell the depreciable capital property and it increases in value, then it is treated as a capital gain. Capital losses on depreciable capital property are not calculated through the sale but rather through the depreciation methods and other methods used in the calculation of business income. 

(3) personal use property is a particular type of non-depreciable capital property that is use for personal use, eg. primary household residence. If you sell personal use property, there can be a capital gain which maybe taxable. Capital gains on sale of personal residence are not taxed. Capital losses on personal-use property are not deductible. 
NB – the income measurement rules are not the same for the four types of income.  You have to know the boundaries

· S.4(1)(a)  Calculate each source separately

· S.4(1)(b)  if you carry on a particular activity partly in one place and partly in another, apply the income measurement rules in both place.  You have to allocate business expenses separately and apply the rules to various sources separately.  

3 Questions to ask:
1. What amounts must be recognised as revenue from a particular source?

2. What amounts can be deducted from a particular source for tax purposes?

3. Timing issues.  Divide the period for tax purposes into the taxation year.  To what period are revenue and expenses allocated?  It is critical to recognise timing for income and expenses.

Part I, Division A, S. 2-4 - liability

Income Calculation Rules - Part I Division B
Subdivision a Employment (basic rules, inclusions and deductions)
Subdivision b Business or Property (same)
Subdivision c Capital gains or losses
Subdivision d Other sources of income...

Part I Division B (b) ss.9-37.1 – income calculation rules for business income

s.12 – revenue side

s.20, s.18 – expenses

s.10 – inventory

s.34 - risks


Property and Business Income 

(a) What is a business?

* definitions: "business", "personal or living expenses" [248(1)...(a) only] 

ss. 9, 12 (inclusion rules), s. 18 and 20 are the core provisions for calculating business income. 

Business revenue includes amounts realized by a taxpayer by business activities. There are four factors that are critical in making that determination:

1. Does a business exist? 

2. Are revenue amounts that a taxpayer receives revenue from a business or employment? If a revenue is from an employment relationship, the calculation rules are much different than the calculation of business income. This distinction is important with a contractor or employee 

3. Is it property income or business income? If it is entirely passive, it is property income. If it is revenue earned while carrying on a business, then it is business income. 

4. Distinction between capital and business gains or losses.

What is a business for tax purposes?

There are 3 boundary lines between income from property and business.  The distinction is the level of activity.  Passive activity = income from property.    Is it a gain from the selling of a property income from a business or is it a capital gain?  If it is from a business, the full amount is recognised.  It it is a capital gain/loss, ¾ of the amount is recognised.  So the core element of a business is s.248(1).

The Act uses an inclusive definition of "business.” Courts can therefore read in additional criteria (see Tonn v. The Queen). In that case, court looked to see whether the activity lacks any element of personal benefit. Case divides activity as follows: 

(1) predominately activity carried on for the personal benefit of the taxpayer

(2) Commercial activity where taxpayer's motive lacks any element of personal benefit.

The case-law adds other badges of a business: 

1. Is there continuity in the activity to give it a commercial character?   A one shot transaction is within the extended definition of s.248(1) but not within the ordinary meaning
2. Systematic organization of activities with a view towards earning a profit. Most businesses will have these essential elements. 
· Investment of capital is an indicator
· Level of organization should indicate that a business is being operated. 
· Engaged in commercial activities: making contracts, purchasing equipment, infrastructue, solicitation of clients, manufacturing goods, provision of support services, maintenance of inventory.
3. A reasonable expectation of profit (read gambing cases [Moldowan, Graham, Walker] and Tonn)

· Personal element predominant (e.g. farm losses) 

s.248(1) defines “personal or living expenses)

· No personal element but no chance of profit (Tonn)  Different standard?

What about importance of hindsight?  Startup losses?  Policy Stakes?  See cases.

Why did the Court read in a “reasonable expectation of profit”

s.9(1) describes profit as income, profit from business etc.  A loss will not be recognised from the activities of mere personal gratification  e.g. hobby farmers – there is no expectation of profit, merely expenditure of money for personal gratification.

In summary:
A business is an undertaking with a view to making a profit. There must be: continuity of operations in time; a level of organization that supports the conclusion that the activity is carried on to make a profit; a reasonable expectation of profit (court-created element). These criteria are not exhaustive, but are generally good indicators. 
s.248(1)(a) – Personal living expenses.  You include expenses of property maintained by a person for the benefit of taxpayers and not maintained with a reasonable expectation of profit.

So if you have a business, go through the 3 rules:

s.9 – income from a business is profit therefrom

s.9(2) – losses are….

s.9 is the focal point for property and business income calculation rules.  See Russell v. Town & Bank.  Profit = net income for business (revenue minus expenses) 

What does profit mean?

Courts said in Dominion Taxicab Services that profits are to be determined in terms of ordinary commercial accounting practices or Generally Accepted Accounting Practices (GAAP).  (See Canderel).  The Courts used GAAP as a starting point, as a matter of evidence, an interpretive aid (said Iacobucci in Canderel) to determine what profit is.  The Courts will ultimately decide this though and they reserve the right to deviate from GAAP for tax purposes.  So tax accounting does not equal financial accounting.  GAAP is subject to (1)  any overriding statutory rules  (2) any tax principles or rules defined by the Court in terms of law.  Courts haven’t been too comfortable in overriding GAAP.

Candarell.  Also see Ikea 
Facts:  Tenant inducement payments.  Candarell was a property developer who would pay tenant to take on a lease.  What do you do with payer?  What is the difference between GAAP and practices for tax purposes?  If the lessee paid $100,000 over 10 years, do you spread it over the 10 years?  Candarell wanted to do it all at once.  GAAP would say that there are 10 periods over the lease, so you match the amount with the time periods.  The Court of Appeal said that matching is mandatory.  The SCC said no.  6 Principles of Iacobucci:

1. The determination of profit is a question of law.  Courts interpret and apply s.9 of the Act

2. Profit for business in a taxation year must be determined by setting the revenue for that year (revenue – expenses)

3. In seeking to ascertain profit, the goal is to obtain an accurate picture of the taxpayer’s profit for the given year

4. In ascertaining profit, the taxpayer is free to adopt any method that is consistent with (a) the provisions of the Income Tax Act  (b) established law principles or rules of law  (c)  well-established business principles.

5. Well accepted business principles which include but are not limited to the formal codification in GAAP are not rules of law but are an interpretational aid.  To the extent that they (GAAP) effect income, they will do so depending on the present circumstances (a case by case basis).

6. On reassessment, once the taxpayer has shown that he has provided an accurate income picture for the year that is consistent with the Act/courts/financial practices, the onus shifts to the minister to show that the figure provided does not reflect an accurate picture or that another method of calculation is appropriate.

Therefore, there is no set criteria of assessment for tax purposes.  

Read Par. 12(1)(b), s.34,  par. 21(n) s.12(1)(e)

(b) The concept of profit 

* s.9(1)-(3) 


(c) Annual accounting requirement 

* ss. 11, 249 and 249.1 


(d) Accounting methods 

(e) Timing of income and deductions 

* ss. 12(1)(a), (b), (d), (e), (i), 18(1)(e), 18(9), 20(1)(l), (m), (m.1), (n), (p), 20(6)-(8) and 34 

Cases
Moldowan 
Held: says that there must be a "reasonable expectation of profit"-
said it is an objective test looking at all of the factors:

· previous year's performance (general pattern of profits/losses)

· skills/training of person undertaking the 'biz'

· was it capable of generating $ in the manner in which it was capitalized etc.
NB: difficulty of test is that crts tend to apply it in hindsight (ie) you have losses for 10 yrs in a row- 

Tonn (1996 FCA)
Facts:  Tonn purchased house, rented it out, thought rent would cover expenses and he would make a profit.  No personal gratification = profit.  They used the farm cases reasoning of “expectation of profit” and applied it to the Tonn fact pattern with no personal gratification.

· suggests you have to distinguish b/t 2 types of cases (key is nature of the operation):

· hobby type cases (probably not a biz)- where there is a personal element in the enterprise
eg) rent out condo in Flda when not there

· commercial enterprise cases (probably is a biz) - no personal element
-crts should be very loathe to find that there is no business (ie) benefit of doubt to the tp
- reasonable expectation of profit test has to be used sparingly in these cases
*most NB factor to consider "What is the nature of the enterprise that you are involved in?"-
crt said it can take time for a biz to become profitable (ie) startup losses
-crt suggets Moldowan test should be used sparingly when dealing w/ commercial enterprises - is not intended as a whole scale second guessing test

Landry (FCA) p.337
Facts: 70 yr old lawyer posted hadn't practiced for 31 yrs - posted losses for 13 consecutive years
Held: no reasonable expectation of profit-
comes a time when it becomes chasing an impossible dream 

At what point does a hobby become a business?


Graham v. Green-
distinguishes b/t gamblers and bookmakers-
bookmakers make odds w/ a view to a profit - T4, taxable-
bettors do not organize their efforts in this way -T4, not a biz and not taxable 

Walker-
Court looks at intention of tazpayer - ie) if he intended to make a profit then it is a business.
Here, taxpayer couldn't afford to lose and intended to profit from betting T4, winnings are taxable income 

Note: re:illegal businesses ,technically common thief should pay taxes on amount they steal-
i.e.) where employees steal from employers, it is held that they were guilty of tax evasion-
s.6 all encompassing section that includes proceeds from theft 

Timing provisions


Example re the importance of timing:

Projection

1. expenses $300  (interest expenses)

2. revenue $300 coming in

Question – do you invest?  No because there is no net return.  This can be changed by having strange timing rules.  Assume that the rules allow the taxpayer to defer fully the recognition of revenue and to recognise the expenses in advance of the revenue.  Note:  for maximum tax benefit, accelerate expenses to the maximum amount the earliest possible and defer revenue to the maximum amount the latest possible.

Year 1
Year 2
Year 3

Revenue NIL
NIL
$300  (accelerated revenue recognised all in 3rd year)

Expense  $100
$100
$100  (expense recognition is accelerated)

Net income  ($100) (loss can be offset against other income)
($100)
200


Tax saving at 50%              tax = $100 after year 3

Rate = 50

Investment rate interest = 1.05

Therefore in year  1:    $50 x (1.05)² = $55.12


       Year 2:
$50 x 1.05 = $52.50

· tax savings + return n years 1+2 = $107.62

· tax year 3 = $100

· net return = $7.62

But how does it really work?

Timing rules tell us when to apply revenues and expenses.  So you allocate expenses to a particular period.  We don’t want rules that taxpayers can manipulate.

Policy criteria:

1. How susceptible is it to taxpayer manipulation?

2. How effectively does it allocate increases in wealth with expenses in a tax period?  (Measures net accretions to wealth in a particular period) 

General timing provision is s.12(1)(b).   These are largely developed by the Court:

Cases: West Kootenay Power and Light Co. v. R., 92 D.T.C. 6023 (F.C.A.); Maritime Telegraph & Telephone Co. Ltd. v. R., 92 D.T.C. 6191 (F.C.A.) 

At year-end, companies had large amounts of "earned" income that was not yet billed. These amounts were estimated as of December 31. Was that appropriate under s.12(1)(b)? 

In West Kootenay, the court said they were providing "goods" so 12(1)(b) did not apply. 

In MT&T, the court said they were providing "services" so 12(1)(b) did apply. Court said "receivable" does not necessarily mean "earned", and that the "earned" basis is preferable. Court said that s.9 provides a "truer picture" of "profit". EDGAR SAYS THIS DECISION IS WRONG. 

Most cases support the position that "receivable" means "earned" [earlier], and not "due" [later]. But this is not clear. The "earned" method is least subject to manipulation by the taxpayer. 
General Timing principle for recognition of expenses 

2 types :   

· Cash accounting [“receivable”](receipt of case or equivalent to cash payment is recognised). Under the cash basis, expenses are deductible when paid.  You must recognise revenue when the taxpayer has an unconditional right to the amount;  when he has a business right to receive the amount.  

· accrual accounting [“received”](expenses when they are incurred are recognised;  recognise revenue only when it is earned).  Under the accrual basis, expenses are deductible in the year they are incurred. Time of payment is irrelevant. See s.18(9) re prepaid expenses.  Unconditional legal right to amount is recognised on receipt. 

s.18(9)(a) and (b) allow the amortization of prepaid expenses, reasonably, over term of the contract. 

s.34 is a special timing rule for "works in progress" for professional services. s.34 is an exception to the concept of "receivable". 

Cash accounting is easier to manipulate (applies to employment income, farmers, fishermen)

Most businesses use accrual accounting.

Revenue = “receivable”, “received”

Expenses = “incurred”, “payable” – accrual.  When there is an unconditional legal obligation to pay amount.

Taxation period – you must allocate revenue and expenses to specific periods – basically the calendar year.  

s.11 modifies the taxation period of s.249(1).  You can calculate business income on the basis of a fiscal period.  Income for business is income during the fiscal period in the calendar year.  You have to have good non-tax reasons for calculating the fiscal year.


e.g.  fiscal year is July 1/93 to June 30/94  - only the 1994 calendar year is reported

s.249(1) has the definition of a fiscal period in para. b.  A fiscal period is the period for which you make up your books of accounts.  

Paragraph (a) says that in no case can it be longer than 53 weeks.

Paragraph (b) says that in the case of an individual, no fiscal period may end after the end of a calendar year in which the period began (amendment in April 1995) except if the business is carried out outseid the country (and you are the sole proprietor). 

 
Therefore a fiscal year of Jul 1/94 to June 30/95 has to end on Dec 31/94.

S.11(i) is merely historical subject to 34.1 and 34.2

P.49 problem 4

Using the Cash Basis  e.g. farmer or fisherman

1996 – s.249.1(1)(b)(c) – fiscal period = the calendar year


s.249(1) – taxation period = calendar year


Revenue
Expenses


Fees received/salary
$40,000
$16,000
(secretary’s salary paid)

Billed but unpaid
NIL (not received)
NIL
(office supplies – not paid till ’98)

Work completed but unbilled
NIL (not received)
$3000
(insurance paid in ’98 for 3 years)



$10,000
(photocopier paid in ’96)




  $40,000

        $29,000





So, s.9(i) profit = $11,000

Now using the accrual basis  e.g. business person other than farmer, fisherman or lawyer

Revenue
Expenses


Fees received/salary
$40,000 s.12(1)(b)
$16,000 (person has obligations to pay)
(secretary’s salary paid)

Billed but unpaid
$10,000  s.12(1)(b)
$2000 (unconditional legal obligation to pay)
(office supplies – not paid till ’98)

Work completed but unbilled
$15,000 (Capital Cost Allowance [CCA] Deduction)
$1000 (s.18(9) – prepaid expenses are amortised – deductible as incurred) 
(insurance paid in ’98 for 3 years)



$10,000 (unconditional legal obligation to pay)
(photocopier paid in ’96)

Notes:

· s.12(1)(b) – you report money earned rather than money received.  What is earned or receivable includes amounts receivable for services rendered and property sold even if it is not due till the end of the taxation period.  There are exceptions for farmers and fishermen.  S.12(2) says that 12(1) is included for greater certainty.  For the purposes of 12(1)(b), an amount shall be deemed to have become receivable at the earliest of (1) the day in which the account was rendered (billing date) or (2) the day in which the bill should have been sent out.
· Report amounts if you have a legal right to the amount – the time of billing is unimportant
· S.10(5) – office material would be carried forward to the next year as inventory.  It doesn’t matter when it was paid just when the expense was incurred.
· S.18(9) deals with the insurance.  Prepaid expenses have to be spread over the time period, in this case, 3 years
· The photocopier is a capital expense and would receive a CCA – capital cash allowance
Tax payer’s argument to defer revenue till 1997:

So if you have completed the work by Dec 31/96, and you would ordinarily bill in a week, you wuld have to report it in `96 according to the caselaw because you have completed your obligation but s.12(1)(b) adds an exclusive definition of receivable – that there is no undue delay in sending the bill, the normal amount shall be deemed to become receivable on the day you set the bill or the day you should have sent the bill.  If there is no undue delay in getting the bill out in ’96, you can push off revenue until ’97.

See  West Kootney Power and Light Co  92 DTC 6023 (FCA) and Maritime Telegraph & Telephone Co. Ltd 92 DTC 6191 (FCA).  In these cases, the companies had unbilled but earned amounts.  They didn’t bill their clients because they needed time to calculate volume discounts.  They reported estimated volume discounts.  In West Kootney, the provision of electricity was the provision of property and so it didn’t apply.  The amount had to be ascertained or ascertainable.  In Maritime Telegraph, telephone and telegraph services were not property –just the provision of services.  So the judge said that s.12(1)(b) was determinative.

Minister’s Argument to require payment in 1996:

s.12(2) – receivable means what the court said it meant i.e. “earned”.  If it is earlier that the time of billing, s.12(1)(b)  is not determinant – it is just an extended meaning of receivable (based on a misreading of what the courts interpreted).
Works in Progess:

What if the taxpayer is a lawyer.  S.34 relates to works in progress in business that is a professional practice where at the end of the year, where you have elected, you can exclude works in progress.

Why did the Department of Finance create a modified accrual accounting for WIPs?

One theory is that lawyers cannot incorporate so that are not entitled to the lower rate of corporate tax.  So WIPs were a trade-off to corporate tax benefits.

s.20 – provisions that modify timing on the revenue side.  Modifications to the accrual method include WIPs, installment payments (s.21(1)(n), doubtful and bad debts (when the client cannot pay) and pre-paid revenue/income – money received before services were rendered.

Reserves

s.18(1)(e) – there may be conditions that impair the value of future earnings.  So you can set up a reserve.  So if you earn $20000 in a fiscal period and some portion  will be impaired, financial accountants will set up a serve based on probabilities e.g. $5000.  So in the books you recognise $20,000 revenue and deduct $5000 as an expense so you only have $15,000 as a value.  If the amount is resolved as $20,000, the reserve is removed.  So by setting aside a reserve, you are making an allowance, not overstating profit.  You don’t want to mislead investors.  (See Candarel).  For tax purposes, no deductions shall be made in respect of an amount on account of a reserve or contingency unless expressly provided by the Act.  So $20,000 is a net accretion to wealth and can be taxed regardless of if you have been paid or not.  S.20(1)(n)(l) and (p) state that the taxpayer can set up specific tax reserves for bad and doubtful debts, etc.

Deferred payments or installment sales

What if you don’t have the case to pay the tax – that’s why the accrual method was chosen.  In certain circumstances, it is a problem so we will allow you to defer payment and set up a reserve in terms of installment sales.

The Installment Method 

s.20(1)(n) - Reserve for unpaid amounts. Section 20(1)(n) allows the reporting of profit, proportional to revenue amount allocable to the taxation year. 

ie. see Q5.2 on p. 49 of SM [$100,000 revenue recognized on accrual basis. s.9 business income = $40,000]:


PRIVATE

1994
1995
1996
Total Contract

Revenue
$50,000
$25,000
$25,000
$100,000

Profit
$20,000
$10,000
$10,000
$40,000


In 1994, deduct reserve profit proportional to amount of revenue receivable allocable to years beyond the taxation year. This only applies to the sale of inventory. 

3 Elements to s.20(1)(n):
(1) Must sell a piece of property in the course of business;
(2) Amount of proceeds must be due (payable) beyond the year;
(3) If 1 and 2 are met, then a reasonable portion of profit can be deducted in calculating income (reasonably attributable to revenue amount due beyond the year.) 

Reasonable = profit x (amount due beyond the year ÷ total revenue) 

Deferred or Pre-Paid Expenses 

If you recover a portion of a doubtful debt (see problem #6), under s.12(1)(i) you must include it in income in the year you collect it. Or you can negotiate with the delinquent client and ask for some general settlement. 

Assume half is paid, and out of the other half, 75% is doubtful. What is the income for 1997? What is the deduction under s.20(1)(l)? [$375 (75% of 500)] The section applies only to "receivable".

PRIVATE
1996

1997

1998




s.12(1)(b)
1,000
s.12(1)(d)
500
s.12(1)(d)
375

s.20(1)(l)
500 [50%]
s.20(1)(l)
375 [75%]
s.20(1)(l)


s.9
-100 [(1,000 - 600) - 500]
s.9
125



If the full amount is paid in 1997 there is no deduction under s. 20(1)(l) and you account for the $100 loss in 1996. The profit is then $400 which is exactly what it is supposed to be. 

s. 20(1)(n) [sale of property and inventory on reserve]
Installment method allows you to report a portion of the profit as the cash comes in (see problem #2). This section is different from doubtful debts. s.20(1)(n) assumes that you will collect but reserve a portion because the payment is on installment. In the problem, lets assume the last $25,000 is due in 1996 but is not paid- are you entitled to s.20(1)(n) or doubtful debt under s.20(1)(l)? s. 20(1)(n) does not apply because there is no amount payable beyond the year (ie. there is no amount due in 1997 because it was due in 1996) It was supposed to be paid by 1996 and nothing else would be due after this- even though you have not received the last $25,000 in 1996, there is nothing due in 1997 

We can take a deduction of $25,000 under s. 20(1)(l) or 20(1)(p) then subtract the $10,000 profit registered in 1996. Thus the total deduction in 1996 is $15,000 (see handout) 

What if you have a portion due beyond the year [s. 20(1)(n)] but some of it is doubtful or bad? ie. in 1995, you realize that 1996 is doubtful? In 1995 you claim a doubtful debt in s. 20(1)(l) of 25,000 and you don't claim your 10,000 profit for that year. 25,000 - 20,000 = s. 9 (5,000) deduction 

s. 20(1)(n) says you cannot allocate a portion of profit when there is a doubtful or bad debt. If there is a portion of the debt that is doubtful, then there will be a receivable in 1996 and thus s. 20(1)(n) is in effect. 40,000 x 6,250/100,000 = 2,500 

Interpretation of reasonable in s.21(m)(i) and (ii) 

1. The correct policy interpretation

· Cost of goods and services

· see s.12(1)(a) - accelerates the recognition of income 

eg. Problem #4, p. 50(?) 

PRIVATE
1996

1997

1998
[goods delivered / revenue earned]


s.12(1)(a)(i)
$10,000
s.12(1)(e)(ii)
$9,000
[carried over from 1996]
s.12(1)(e)(ii)
$8,000
[carried over from 1997]

s.20(1)(m)
$9,000
[projected cost of project]
s.20(1)(m)
$8,000
[new projected cost]
s.20(1)(m)
$8,000
[actual cost]

s.9
$1,000
[1996 income]
s.9
$1,000
[1997 income]
s.9
NIL
[1998 income]


Section 9 allows the actual costs to be deducted from s.12(1)(e)(ii) amount. ss.12(1)(a) and 20(1)(m) function to make tax payable on profit when the revenue is received, not earned (when you have the cash to pay). These sections allow you to adjust the profit on the transaction and have those adjustments reflected in subsequent years. In the "revenue" year, s.20(1)(m) allows you to deduct your projected costs(?). s.12(1)(a) is not optional. 

2. Revenue Canada's Interpretation (incorrect as a matter of policy)

· Recognize pre-paid revenues. Since it is not earned, offset it by the whole amount (contingent liability) so as not to mislead investors. (Accounting conservatism)

· Therefore, amount to be included under 20(1)(m) = the s.12(1)(a) amount. 

PRIVATE

1996
1997

1998
[goods delivered / revenue earned]

s.12(1)(a)
$10,000
s.12(1)(e) (ii)
$10,000
[1996 s.20(1)(m) amount]
10,000
[1997 s.12(1)(m) amount]

s.20(1)(m)
$10,000
[s.12(1)(a) amount]
s.20(1)(m)
$10,000
[s.12(1)(e)(ii) amount]
$9,000
[deduct actual cost of goods sold]

s.9
NIL
s.9
NIL
$1,000


This defeats the policy objective and purpose of s.12(1)(a) which is to allow taxpayers to pay when they have the cash on hand. 

The purchaser of these could claims pre-paid expense under s.18(9). This is deferred recognition of an expense. 

* EDGAR doesn't care which position you take. Can just IT154R or do the correct one, or both on exams. 

Section 20(1)(m) is subject to s.20(6) which sets time limits applicable to, eg. London Transit, Campus Food Services etc. If you have prepaid amounts, you get the prepaid reserve only for the year in which you receive the amount. 

You must substitute for the reasonable amount under s.20(1)(m), an amount not exceeding the amount received for these services in the year it was received. You may only claim the reserve for that year. After that, no s.20(1)(m) reserve. 

s.12(1)(a)(ii) deals with deposits. 
s.20(1)(m)(iv) deals with repayments of deposits (on items other than bottles). 

(f) Inventory 

· s.10, Reg. 1801
* Definitions: "inventory"



Problem 49

You would pay tax on $40,000 profit as it is earned – 18(1)(e) says no reserves except if the Act provides it.  So look at s.20(1)(n) which says you can deduct certain amounts for tax purposes.  You can set up a reserve in respect of installment sales under certain conditions

1. You have to include the amount earned in business income in the year and in the preceding year

2. In respect to property sold in that business

3. The amount is due (payable) to the taxpayer after the end f the taxation year - $60,000 is due beyond the taxation year

4. Except if the property is real property, all amounts…

1st approach: split the profit in two (20,000 in 1994, rest in 1995

2nd approach:  consider the first 60,000 as cost coverage and only then consider the profit.

3rd approach:  consider money coming in 1994 as a profit and the rest as cost recovery.

Revenue Canada uses a pro rata approach i.e.  amount due beyond the year






      Total proceeds

1994

s.12(1)(b) proceeds = 100,000

s.12(1)(b) cost = 60,000

s.9 profit = 40,000

so result under 20(1)(n):  take 40,000 x 50,000  (amount due beyond the year)







100,000 (total proceeds)

this is the reserve that can be deducted as a reasonable amount.

s.9(1) 40,000 – s.20(1)(n) 20,000 = $20,000

1995
s.12(1)(e)(ii) 20,000 (previous year’s reserve is brought back into income)

s.20(1)(n)  Need to ask:  Am I entitled to a further reserve?  Have I met conditions 1, 2 and 3.  Yes…reserve (reasonable amount) can be taken


40,000 (total profit) x 25,000 (amt due beyond ’95)




        10,000 (total proceeds)

So s.9(1) profit = 12(1)(e) 20,000 – s.21(1)(n) 10,000 = 10,000

1996

s.12(1)(e)(ii) 10,000 reserve of 1995

s.21(1)(n)  Am I entitled to a reserve in 1995?  No – condition 3 not fulfilled because nothing is due on installment basis in this year.  So s.9(1) profit = 10,000

1994 – full accrual with s.21(1)(n) reserve profit of 40,000.  With s.20(1)(n) you can use a reserve because of deferred payments; can set up a reasonable reserve.  You only have to recognise half the profits in 1994.  Do the formula which shows you can deduct $20,000.

With the same example, what if it were personal property instead of real property?  S.20(1)(n) condition 4 now becomes relevant.  It says that real property only applies if some amount of the sale is due at least 2 years beyond the sale.  In this case, you would qualify.

What if 50,000 was the downpayment, $25,000 in 19995 and $25,000 in Dec 1998.  Think of s.20(a)

Same problem different payment terms

1994 – 50,000

1995 – 25,000

1996 – nil

1997 – nil

1998 – 25,000

1994 100,000 proceeds – 60,000 cost = 40,000 profit.  But s.20(1)(n) allows a reserve

40,000 x 50,000  =  20,000 reserve


100,000

s.9 income 40,000 – 20,000 s.210(1)(n) = 20,000

21(1)(n) includes property sold in the process of a business.  But if you are selling things to get rid of inventory in a closing sale, it does not apply because it is not in the ordinary course of a business – you are getting out of business.  This becomes the sale of property not the sale of inventory.

1995
s.12(1)(e)(ii)  previous year’s reserve = 20,000

s.20(1)(n) reserve – if there is an amount due:  40,000 x 25,000   = 10,000








100,000

s.9 profit = s.12(1)(e)(ii) 20,000 – s.20(1)(n) 10,000 = 10,000

1995 – no amount is due

s.12(1)(e)(ii)  previous year’s reserve = 10,000

s.20(1)(n) 40,000 x 25,000 (due in 1998) = 10,000



    100,000

s.9 profit = s.12(1)(e)(ii) 10,000 – s.20(1)(n) 10,000 = nil

1997
s.12(1)(e)(ii)  previous year’s reserve = 10,000

s.20(1)(n) 10,000 but 20(8) says that the reserve ends

so, s.9 profit = s.12(1)(e)(ii) 10,000 – s.20(1)(n) nil = 10,000

1998
s.12(1)(e)(ii)  previous year’s reserve = nil

s.20(1)(n) nil

DOUBTFUL OR BAD DEBTS

Problem 6

1996         x      services business

revenue = 1,000 earned (value of services with deferred payment terms)

expenses = 600

s.9 profit is 400 – to be recognised in the 1996 tax year.  But the bill is not paid till the end of 1996, so there are Income tax consequences.  Under s.20(1)(l) the tax payer claim as a reserve regarding doubtful or bad debts.  S.20(1)(l)(ii) gives additional deductions in calculating business income (can claim unpaid bills as losses).  The whole amount could be a reasonable deduction so 1,000 would be recognised as doubtful and the expenses would therefore be 1,600.  So s.9 would be a $600 loss.

Assume that 24% of the receivable will be doubtful based on past history.  So face amount worth $750 not $1000.  So reasonable amount as reserve under s.20(1)(l)(ii) = $250.  So s.9 profit =

1000 – (600 + 250) = $150

In the US, there is no doubtful debt reserve.  You have to declare profit unless you can determine the debt is bad.  In Canada, you can carry on a doubtful debt until it is bad or until you collect something on it.  When does a doubtful debt become bad?  The period of arrears is critical once you have doubtful receivables.  You can look at past client credit history to determine “reasonable” amount from doubtful receivables.  Doubtful and bad debts usually have the same fact pattern but a different degree of doubt!  Bad debts are written of as non-collectible.  There must be determined efforts to collect that must be unsuccessful (e.g. calling collection agency, legal process) – there must be evidence that indicates that the debt is non-collectible.  At this point, a doubtful debt becomes bad and are deducted under s.20(1)(p)

1996
revenue = $1,000   expenses= $600

if 1000 is doubtful, expenses = 1600  so s.9 loss of $600

1997
s.12(1)(d) bring previous year’s debt reserve as income for 1997 = 1,000 (might be a change in status in receivables – it is now bad)

s.20(1)(p) = 1,000 deduction

so s.9 profit is nil – no profit, no loss, just written off in books

Note s.12(1)(i) – if you get lucky and collect on a bad transaction later, you have to include it when collected:  eg. 1998

s. 12(e)(i) collect 10% of bad debt = 100

This $100 income offsets $600 loss = $500 loss.  No not amend the 1996 return!!

Revenue Canada doesn’t allow general provisions (automatically deduct based on history or experience).  You must establish that each specific receivable is doubtful because it is in arrears.  Once a receivable is doubtful, you can look at history to determine “reasonable” amount.

Example

1996  x   services

1000 income  s.12(1)(b)  payment is due in March 1997

$600 expenses (incurred in 1996)

There is no 20(1)(n) reserve because it doesn’t apply is a business providing services.  What about a doubtful debt reserve?  If the time for payment has not yet arrived, it cannot be doubtful.  If the time for payment is Mar 31/96 but no amount has been paid, the first provision is that you show to the auditor that it is in arrears.  Look at past experience with particular receivable and determine under s.20(l)(1)(i) the “reasonable amount”.  Assume that it is 25%:

So   s.20(l)(1)(i) – 250 (think of the reserve as an expense)

So, s.9 profit – 150

You have to do this over more than 1 taxation year, so

1996 s.20(l)(1)(i) = 250

Assume that the receivable is still outstanding and that it is still doubtful.  If based on past experience, you can assume that 60% of the amount is doubtful, so you can claim this on the 1,000 owing:

s.12(1)(d)  $250  (previous year’s reserve brought back into income as revenue to cancel out $250 deduction 1996

s.20(1)(e)(I)  $600

s.9 = loss of $350

What if contingencies have been restored in 1997.  So you get 1000 receivable:

s.12(1)(d) = 250 (still bring back the previous year’s deduction)

s.20(1)(e)(i) – nil (not entitled to doubtful debt because receivable is no longer doubtful because it has been paid)

s.9 = 250

Assume in 1997 that the receivable is still in arrears and you’ve taken adequate steps of a reasonable business person to collect and this led to no yield.  The doubtful debt has now become bad.

s.12(1)(d) - $250

bad debt  s.20(1)(p) - $1000 deduction (see 20(1)(p)(i) – the total of all debts that have been included in caculating income in previous years)

so s.9 loss of $750

This is the same as $600 loss in transaction but it is reported over 2 years  (same as 1996 revenue = 0, expenses – 600, profit = -600)

1998
s.12(1)(i) 100 – assume that 100 was collected

so $100 profit

Assume that in 19997, $600 was collected on the receivable and $400 you write off as bad – you forgive.

s.12(1)(d) – 250 – previous year’s doubtful debt

s.20(1)(p) bad debt = 400 (a deduction)

s.9 – (150) loss

The $600 that has been collected has already been accounted for in the 1996 year revenue.

If the amount is doubtful, s.20(1)(l)(i) – 400;  s.9 = (150) loss

1998 s.12(1)(d) = 400

s.20(1)(p) 300 – gets paid 1000

s.9 – 100

INSTALLMENT RESERVES – S.21(N)

X – sale of goods in ordinary course of conducting a business

Payment terms:

1991 – 2,000

1992 – 4,000

1993 – 4,000

1991     
s.12(1)(b)   10,000  earned (you have an unconditional right to the amount)




       8,000  cost



s.9 profit = 2,000 if no reserves, just based on income earned.  But you have to look at s. 18(1)(e) to account for installment contingencies.  Assume no doubtful or bad debts:

1991
s.12(1)(b) – 1,000

cost – 8,000

s.21(1)(n)  2,000 x 8,000   = $1,600 reserve can be taken




    10,000

s.9 (10,000-8000-1600) = 400 loss

1992
assume that x doesn’t receive receivable but receives entire $8000 in 1993.  Presume that there is nothing to indicate that the 1993 amount is doubtful.

First, bring back the reserve under s.12(1)(e)(ii)   1,600   (to offset the reserve claimed in 1991)

s.20(1)(n)  2,000 x 4,000  = $800



    10,000

s.20(1)(l)(i)  4,000

s.9 = 3,200 loss

1993



Purchaser pays $8,000 from 1992 and 1993 installments

s.12(1)(e)(ii) - $800    (previous year’s s.20(1)(n) reserve)

s.12(1)(d) - $4,000    (bring back doubtful debt claim from previous year)

No installment reserve because there is no amount due beyond the year.  Also, no doubtful debts because the receivable has been paid off.

So s.9 profit – 4000

Check overall profit on transaction:  1991=400; 1992=(3200); 1993=4800:  Profit = 2000

What if only $4000 is paid in 1993 and the $4000 balance is written off as bad:

s.12(1)(e)(ii) 800

s.12(1)(d) 4000

s.20(1)(n) – nil because no amount is due beyond the year

bad debt reserve  20(1)(p)(i) – 4000

s.9 profit = 800

Check overall profit for transaction: 1991=400; 1992=(3200); 1993=800:  Profit = (2000) loss

Assume that in 1992, the 1992 installment is doubtful.  Also assume that the fact indicate that the 1993 amount will not be received.  Maybe in 1992, the debtor filed for bankruptcy, so low creditworthiness of debtor.

1992
s.12(1)(e)(ii) 1600  20(1)(n) reserve from previous year brought back

s.20(1)(n) 2000 x (4000/10000) = 800 Can’t have 20(1)(n) reserve as well as doubtful debt reserve so cancel it!

s.20(1)(e)(i) 8000   (1992 + 1993)

So, s.9 profit = (5400) loss

SS. 18(9) DEFFERRED / PREPAID EXPENSES

Supplementary Materials p.49 Problem 4

X  1996

$10,000 received for gods manufactured in 1996-1998.  Cost of goos is 1900.  Goods delivered in 1998.  Calculate the income for 1996, ’97 and ’98.

The government taxes the amount upfront (modification of accrual method – have cash in hand before services provided):  s.12(1)(a)(i) 10,000 (include entire amount)

s.20(1)(m) 9,000 (reasonable amount in respect of goods delivered after the end of the ear – sub (i).  So you are taxed on net income of cash in hand but because of 20(1)(m) reserve, you can deduct the anticipated cost – a reasonable amount for goods delivered at the end of the year.  You can also deduct a reasonable amount with respect to services, manufacture or delivery of those goods)

So, s.9 profit = 10,000 – 9,000 =1,000

1997

s.12(1)(a)(i) 9,000 – bring back previous year’s reserve

s.20(1)(m) 9,000

s.9 – nil

1998
s.12(1)(a)(i) 9,000 – bring back previous year’s reserve

s.20(1)(m) nil

s.18(1)(a) (9000) loss    - this section does not prohibit a deduction

s.9 – nil

Financial Accounting Practices

A reasonable amount according to the Department of Finance is at least the same as the prepaid income.  So s.12(1)(a) is read out of the Act based on conservatism:

1996
s.12(1)(e)(i) 10,000


s.20(1)(m) 10,000


s.9 – nil

1997
s.12(1)(e)(i) 10,000


s.20(1)(m) 10,000


s.9 – nil

1998
s.12(1)(e)(i) 10,000


s.20(1)(m) nil


s.18(1)(a) (9000) loss

s.9 – 1,000

So, s.20(1)(m) should be an estimate of the cost.  If the actual cost varies from the anticipated cost, profit or loss will show up because of s.20(1)(m).  A reasonable amount is not only the amount included in s.12(1)(e)(i) but maybe it is as much as this.

Now, assume that half the goods are produced in 1997.

1997 – assume that a reasonable amount is $9,000 and this is the previous year’s reserve

s.12(1)(e)(i) 9,000

s.20(1)(m) 5,000

s.9 = 4,000

Assume that there are cash overruns and the goods will now cost $10,000 to produce:

1998

s.12(1)(e)(i) 5,000

s.20(1)(m) – nil

Assume that there are more cash overruns of $500

s.18(1)(a) 5,500

s.9 (500) loss

S.20(1)(m)

See s.20(6) and (7) – Not on the exam.  These sections contain special limitations on the 20(1)(m) reserve (guarantees, indemnities, warranties).  20(1)(m)(i) can deduct insurance premiums from warranty for auto dealers.  S.20(6) – certain prepaid amounts for food, drinks and transportation are included as received as income.  So basically, this reserve ends in one year.

INVENTORY ACCOUNTING

Under financial accounting principles, you recognize revenue from the sale of inventory when earned. Then deduct cost of goods sold and match with revenue to find income. 

(a) What is inventory for IT purposes?
· see Arnold's definition [303-304]

· Definition in Act is general and unhelpful – only s.10.  The definition depends largely on financial accounting treatment and s.10 also has tax rules that effect items of financial accounting regarding inventory.

· Definition of inventory in s.248(1) is very broad.  See p.52-3 of Supplementary Materials – the definition is utterly meaningless because the cost of any property used in business is relative to calculating income.  The cost of a plant is not the cost of goods sold – you can deduct this cost of property as a piece of deductible capital property.
· Basically, inventory is "stuff you buy or make to sell" for profit. Other business property, though income producing, is capital in nature.

· s.10(5) deems certain property inventory for tax purposes, overriding G.A.A.P.

· Under proposed s.10(1.01), property acquired to sell for profit, but not "in the business" of selling such property for profit(?) 

(b) The Equation for determining cost of goods sold/ "costing"
no provision in the Act ­ financial accounting convention 

Inventory begins with the calculation of profit in s.9.  Courts have said that you need a formula to calculate profit on inventory.  You need to know the cost of the goods sold.  This formula is based on financial accounting practices – nothing in the ITA for this:
1. Value of inventory on hand at the beginning of yea (the same as the closing inventory in the previous year)
+

2. Cost of inventory acquired during the year (if still selling inventory, cost = buying cost)
­
3. Value of inventory on hand at end of year
=
4. Cost of Goods Sold

If you produce goods, you have overhead cost.  To what extent do you apply these costs to the cost of inventory sold?  Don’t need to know for exam – see costing methods of financial accounting in the Supplement.

· s.10(1) requires the use of lower of cost and fair market value.  In the mid 70’s, there was a case Henderson which said that the highest price a willing purchaser/seller would pay for the product = net realisable value.  In the exam, you will be given the fair market value for the product.

· s.10(2) requires use of previous year's year-end value for current year's beginning value

· s.10(5) deems work in progress to be inventory. Cost cannot be deducted until revenue is recognized. 

Flow of Inventory

First In First Out vs. Last In First Out:  How do we isolate the items coming in from the items still left on hand at the end of the year.  The company can do an inventory before the end of thefiscal year.  Since you don’t know when remaining inventory was bought and at what price, you must make assumptions about the physical flow of goods. This is critical where the cost of inventory has changed over the year. Case law says FIFO is appropriate for tax purposes. (NOT ON EXAM) 

Prime / Direct / Full Absorbtion Costing: see readings -- not really important (NOT ON EXAM). 

* Depreciation on capital assets is deducted as a "capital cost allowance" and is not included in cost of goods sold for IT purposes. 

* Services are not inventory. 

(c) Effect of Lower of Cost & Fair Market Value rule (s.10(1) and Reg. 1801) 

The Rule allows accrued losses to be included in cost of goods sold (ie. to be written off). This is an exception to the realization principle, allowing the deduction of an accrued loss before revenue is realized.


Assume 1998 opening inventory = 5,000

1998 acquired more inventory for 10,000

1999 Closing inventory based on FIFO – 1/3 of goods sold, 2/3 left.  Assess fair market value = 12,000

s.10(1) says that goods are valued at the lower of cost or fair market value, so value under s.10(1) = 10,000

Assume that the fair market value is 7,000

So s.10(1) = 7,000

So the tax payer can write off the current accrued losses on inventory.  You can recognise accrued gains when you sell but you can also recognise accrued losses before they are realised.

Outline of things to come

Principles/Boundary Lines regarding deductibility of business expenses

1. Personal v. income earning expense

2. S.9 and s.18(1)(a)(n)

3. Why are personal expense non-deductible and income earning expenses deductible

4. The nature of purpose test / concept of taxable consumption

5. Problem areas (a) mixed expenses e.g. home office, entertainment and meals, automobile lease and travel, clothing   and (b) dual-purpose expenses e.g. child care, education, relocation, commuting


According to the Friesen case, (1995 S.C.C.) an adventure is inventory. 

Friesen purchased a piece of land for investment/speculative purposes.  S.248(1) has a definition of business which includes a venture concerned with the nature of trade.  Assume that Friesen spent $5 million on a vacant plot of land.

1990 tax year – the value of the land = $3 million.  How could he write off the $2 million loss.  You can say that it is inventory.

1990 taxation year 

Opening inventory = 5 million  plus cost of goods acquired = nil minus value of closing inventory FIFO = 3 million (under s.10 – lower of cost or fair market value)

Why is the application of cost of goods sold or fair marker value weird in this case?  Because you didn’t sell anything.  This is what the dissent said.  The cost of goods sold formula is designed for businesses (goods generally come in and out) not for speculative property.  You shouldn’t use it just use s.248(1).

The tax payer argument – there is no difference between actual goods or land because you cannot distinguish between high volume inventory and just one item like land.  Why do you have the lower of cost of fair market value rule?  This is nonsensical for Income tax purposes.  It makes sense for financial accounting purposes but not for tax purposes to apply this rule in general.  You should use just the cost price.  For example in a financial institution, debts that are carried in shares, etc are not calculated by this rule.  So s.10(1) and s.10(1.01) where property described as inventory has to be calculated at cost – you cannot write it off as a loss.  You can realise the depreciation when you sell the goods.  But if it is in the Act, why not apply it to real estate – it is a business after all.  So perhaps s.10(1) shouldn’t be there.

Edgar things that 10(1.01) should be 10(1)

DEDUCTIONS:

18.1(1) and 18.1(b)

Deductibility:  Personal expenses are non-deductible, only business expenses are deductible.  Current expenses are recognised as they are incurred.  Capital expenses are amortised.  Income = present consumption + savings.  The increase in savings will be taxed.

Principles underlying the distinctions between (1) personal and income-earning expenses, and (2) current vs. capital expenses, arise from Haig-Simons. 

(a) Expenses incurred to earn income, which provides no personal gratification in itself, should be deductible against the revenue that it generates; An expense should not be deducted to the extent that it provides personal gratification; 

(b) Savings component: Often income-earning expenses result in real assets (eg. a truck). These can be deducted to the extent that the asset is used up in the business and provides no personal gratification. An income-earning expense should only be deducted in the year incurred, to the extent that its value is consumed in that year; 

(c) Capital expenses are deducted as they are used. 

Courts are to determine, as a question of law, which category an expense falls into.


There are tests which determine if something is a capital or a current expense.  Strong v. Woodfield suggested the causal connection test.  If there is a causal connection between the expense and the generation of profit.  This test is no longer used – it was ended by the Imperial Oil case.  Now, you just look at 18(a).  The courts say that expenses are predominant/principle in income generating.  
Scott: he was a bike courier and he wanted the excess food he ate to be deductible.  If you have a car, you can deduct the cost of fuel, so it should be the same for a bike courier.

Problematic expenses – dual purpose or mixed areas.  Mixed expenses occur while on the job and there is a personal income earning element.

· Automobile travel – e.g. a sales person or independent employee.  They use their car to travel for business as well as for personal purposes.  It is generally accepted that the car is used for mixed purposes.  So the tax payer has to tally up the expenses and keep a log based on usage and allocate expenses based on the usage.

· Clothing of a sole proprietor.  You cannot write off any clothing expenses – this was the historical approach.  There is an exception for uniforms.  It is difficult to allocate clothing for income earning and personal purposes.

· home office (s.18(12)) childcare

· post secondary education

· entertainment & meals (s.67.1) relocation expenses

· child care
 

All expenses have some mixed elements. Courts use the "predominant purpose" test. Courts have generally been reluctant to disect quantitatively most predominantly personal expenses (often expenses related to necessities like food). 

Imperial Oil case says that all that is needed is a "relationship" between income-earning activity and the expense. No causal link between revenue and expense is necessary, and don't need to establish that income actually was earned. The "primary purpose" test is purpose-, not results-, based.
Home Office expenses

Cutting off a place for business activities in the home.  Usually, the home is purely personal expenses but if you have a home office, it is a dual purpose expense because you perform some income-earning activity in the house.  How do you treat the expenses (mortgage, heating, etc)? You use the percentage of the space taken up in the home and allocate that percentage to each expense.  Note, it has to be a legitimate income earning use.  Logan lists 3 requirements for a home office.  It has to be:

· regularly used for a business

· necessary for the business

· used exclusively for the business

Statutorily, lifestyle considerations are not counted (see 18(12)) e.g. if a guy just wants to take work home to make it easier and to get home earlier, it does not count.  Note that 18(12) refers only to independent contractors.  It overrides the provisions in the act.  Paragraph A lists the conditions which the homeowner must satisfy.  So the expenses are deductible if

18(12)(a)(1) – it is the individual’s principle place of business –or-

18(12)(a)(2)(i) – assuming you have a dedicated office, you have to meet client’s physically.  

18(12)(b) Even if you satisfy the conditions in paragraph (a), there are further limitations on deductibility.  You can deduct to the extent that the business is profitable – that is, you cannot tally up your losses.  Home office expense can only be used to reduce your income to zero not for losses.  There is quarantining of losses – first you account for all expenses for the business other that home office expenses.

18(12)(2) give you an indefinite carry-forward of losses.  Excess expenses can also be carried forward 

indefinitely.  Compliance rates for home office expense are not very high.  9 out of 10 individuals would probably not satisfy the provisions of s.18(1)(a) – but there is a lack of audit coverage that does not target these expenses.

18(12) has provisions for employees in a home office.

Dual Purpose expenses

e.g. child care, post-secondary education and commuting.  The court presumes that these are not incurred when on the job but to get to the point where you can perform income earning services.  That is, it is not an income-earning act.  All these are predominantly personal expenses so they are non-deductible but there might be some income earning element.  

· S.63 has special deductions and tax credits.  

· And s.118(6 and 7) has special credits for tuition.  

· Commuting expenses are personal and therefore non-deductible.  It is a function of the place where you live – you are not forced to incur these expenses, you can move!

Current vs. Capital expenses 

· 9(1) and (2), s.18(1)(a) and (b) 

Tests for the distinction between current and capital expenses:

(a) expenses to some income

(b) is the expense made once and for all or is it recurrent

(c) was the expense brought into existence an enduring asset or advantage

(d) was the expense related to business entity or to income-earning process

(e) whether the expense was for maintenance or repair of an asset or for improvement of an existing asset

(f) whether the expense improves or brings into existence a new capital asset or only preserves the value of an existing capital asset

Entertaining the client for business purposes

What is otherwise a personal expense becomes an income earning expense because of the situs of the expense, because it occurs on the job.

s.67.1(1) – Expenses for food, etc.  50% of the amount is payable therefore 50% of the amount is deductible, whether you participate or not!

s.67.1(4) – definition of entertainment

s.67.1(3) – fees for a convention

s.67.1(2) – Exceptions to the 50/50 rule e.g. if you are in the business of providing food and beverages

More on the 50/50 Rule

s.18(1)(h) – assumes that food consumption is otherwise personal but 18(1)(h) does not preclude you from deducting it because it is in the course of a business.  Travel expenses incurred by the tax payer away from the home in the course of carrying out a business can be deducted.  For food and entertainment, use the 50/50 rule – 50% is considered personal expenses.  So if you are travelling for the purposes of a business and you get food, s.18(1)(h) says that it is deductible and s.67.1 says that the 50/50 rule will apply subject to 67.1(a) – i.e. for train and bus travel, the 50/50 rule does not apply – it is completely deductible.

Current v. Capital

s.18(9) – prepaid expenses

If it is an income earning expense, the 18(1)(a) prohibition does not apply.  When does an expense become deductible?  S.18(1)(b) says that there are no deductions for capital expenses.  Current expenses – earned as incurred.  Capital expenses cannot be deducted unless the Act expressly provides. 

When are items expensed?

In general accounting practices, you match the revenue with the expenses not just when the money is spent.  For tax purposes, there is no matching – this is based on Haig-Simons income – net accretions to wealth in a particular period should be taxed.  You cannot deduct it when you purchase the item (e.g. a photocopier) but you can deduct it over time as the price devalues because it is a net deduction to your wealth.  So, you assume a decrease in wealth in time as the item is used up of depreciates.  The Income Tax Act purports to measure the decrease in value, for example with depreciation schedules.

Test from caselaw to distinguish between current and capital expenses

Case #237 – an income-earning expense is one that generates revenue – you don’t need a causal connection any more.  Expenses laid out to save expenses are also direct expenses.

The 2nd test – is the expense recurrent or made only once.  If expenses recur in the business, presume that it is a current expense.  A one term outlay is a capital expense.  This is not a bad test for the most part but it can be misleading.  E.g. a person who had to keep replacing tyres as they wore out – this could be a current expense.  What about buying trucks as they got worn out – it is recurring but it is a capital expense.

British Insulating Case

This case provides a good test that is often used.

Facts:  An employer was making contributions to an employee’s pension plan.

Issue:  Are these deductible?  Now, they are in s.20 of the Act.  The recurring expense test was not used.  The expense is a capital expense not only if made one and for all but it has to bring into existence an asset of an advantage for the benefit of the trade which endures beyond the year – this is the signal for net accretion of wealth.  This test reflects closely the underlying principles.  If there is no enduring asset or advantage, it is a current expense

Algoma Railway

The taxpayer had railways in Northern Ontario.  He made feasibility studies to see what natural deposits were there thinking that if other people were interested in these deposits, he could make some money transporting them.  

Issue: Were these study expenses a current or a capital expense?

Held:  if the information were useful (or useless), they should be current and therefore deductable.

The case asked “what does the expense bring to the business directly?”  The benefit beyond the year is speculative so it should be a current expense.  Perhaps one should divide the expense and capitalise the portion of the expense that does generate value beyond the year.  Paragraph 10(5)(a) of the Act says that expense that create benefits are categorised as inventory.  The main test is however, “does the asset or advantage have a value beyond the year?”

Research and development are all current expenses – because research and development is encouraged.

John Manville 

Facts:  The taxpayer was in an open pit mining business.  He had to acquire the surrounding land (with no value) to support the mining expedition.  Was this a current or a capital expense?  It was a capital expense because it had a value beyond the year.

Canada Starch Case Test – Jacket J.

An expenditure for the acquisition or addition to an entity or an organisation for the generation of profit is a capital expense.  But an expense for the maintaining of operations for this entity is a current expense.  

Good will

It is difficult sometimes to distinguish between the two.  What about the generation of good will in the operation of a business?  You good sell the good will that has been built up.  Creating good will is a current expense – it relates to the income earning process.  The amount someone pays you for the good will is a capital expense because it is part of the structure of the business.  A trade mark is also supported by goodwill.

Dennison Mines – the taxpayer operated a mine.  He had to set up underground structures to support the mine.  The creation of those underground structures was a current expense.  But if someone bought the mine, the cost of the structures is a capital expense because it is part of the structure of the business.

Repairs and Maintenance

Usually, repairs, maintenance or improvement of an asset.  To repair is to restore to full working order.  What if you have a depreciable capital asset e.g. a depreciating photocopier, in this case, maintenance expenses will also occur. 

Chabro: the house was on a garbage dump, the floor collapsed and money was needed to fix it because the house was not properly built.  It could be a current expense because it is a correction of something that should have been done.  But, it is a capital expense because it increases the value of the house.  It does not matter how the house was built in the beginning, now, you are extending the life of the house. 

If the house were built properly, it would have a useful life of 10 years.  Now the useful life is 5 years because it is badly built.  If you have extended the useful life of the house, it is an improvement and so it is arguably a capital expense.

Canada Steamship:  the boilers had to be replaced.  The Integration Test – is the asset itself being replaced or are you replacing part of an asset.  It was held that the boiler was an integral part of the ship, but based on regular case law, if you are replacing an asset itself, it is a capital expense.

Goldbar:  a developer builds a shoddy building and the brick facing was falling off.  So he had to fix the building.  Another test was developed:  Was the expense voluntary or involuntary?  Involuntary expense are current and voluntary expense are capital.  This is a nonsensical test!

Perhaps we should draw a bright line – the size of the expense relative to the cost of the asset influences the cost in making the distinction between maintenance and improvement.

Summary

The basic presumption is that for current expenses, you deduct them in the year that the expense is incurred (Candarel).  Matching is not a principle of Income Tax purposes.  The taxpayer might have the option of capitalising current expenses.  There are statutory provisions for prepaid expenses – s.18(9) – this only refers to individuals.  S.18(9.2) is for corporations.

Capital Cost Allowance Statutory Structure

CCA Statutory Structure 

1. s.18(1)(b) and s.20(1)(a) --> exemption to 18(1)(a) 

2. Regs.1100(1) and 1102(1) 

3. s.13(21) - definition of UCC
(A+B) - (E+F)
(cost + previous recapture) - (previous CCA + Proceeds up to original cost) 

4. "Half-year" rule - Reg.1100(2)

· Averaging-type provision

· So people don't stock up at the end of the year and claim 365 days of allowances.


5. "Available for use" rule - s.13(26)

· If you can't use it, you can't claim CCA


6. Recapture rule - s.13(1)

· Where you sell a class of assets with money left over, the left over money is recaptured into income.

· Tax paid on 100% of the recapture amount

· Tax paid on 75% of the capital gain


7. Terminal loss - s.20(16) 

s.18(1)(b) and s.20(1)(a)

When you characterise it as a capital expense, s.18(1)(b) .  s.20(1)(a) overrides s.18(1)(b) and gives yu what amount of the cost of the property can be depreciated.  There are depreciation schedules set up in the Act.  The recapture rule and terminal loss help to correct for inaccuracies in the approximation for decline in value.

Regulation 1101(1)(a) plugs back into s.18(1).  Class VIII is important – it is a residual basket class set at 20%.  Land is excluded from the depreciable classes because it is assumed that land goes up in value.  A building would depreciate at 4%.  Debts, securities and shares, if they do not fit into any of the classes are also non-depreciable.

Regulation 1100(1)(a) – the rate of the class is applied to the undepreciated capital cost at the end of the end of the taxation year for the property of the class (before making any deductions under this subsection for the taxation year).

Regulation 1102(1) – says that the classes described in this part do not include certain property

(a) if it is a resource property

(b) if it is described in inventory, it is included in depreciable classes.  If it is income, we have inventory accounting rules

(c) that was not acquired by the taxpayer for the purpose of gaining or producing income

Regulation 1100(2) – allows you to add the capital cost of a pool to the cost of an asset.

Cost of acquisition minus proceeds of disposition in the year for the asset in the class.

Deals with the problem of the asset not on hand during the whole year.  It assumes that all income is made after July 1 by reducing the net additions to the UCC (undepreciated capital cost) by half.  

Example 1
In 1995, X purchased a class 8 asset (20%) for $10,000. In 1996, the asset was sold for $12,000. What are the tax consequences?   Note:  GST is not included because you take the GST tax credit.

1995
$10,000 Cost = laid down cost or invoice price, the retail cost, transfer fees, etc.  You don’t have to have paid the amount as long as you have been invoiced or you promised to pay. [s.13(21) UCC part A]

1995

10,000 UCC at the end of 1995

Reg. 1100(2) – half year rule – reduce UCC to 5,000

20% of that - $1,000 claimed in the year of acquisition – this is the devaluation of the asset for income tax purposes

$1,000 CCA can be written off as expense 

1996
$9,000 Opening UCC (1995 UCC - 1995 CCA) [A-E]
$12,000 Proceeds from sale 

But F is limited to the original cost of $10,000. What do we do with the $3,000 in cash? 

Closing UCC = A - (E+F) = 10,000 - (1,000 + 10,000) = (1,000)

If A+B exceeds E+F, you have a notional negative balance which is included in income.  So because we have a negative 1,000 there is no UCC because UCC is the amount by which A+B exceeds E+F.
$1,000 Recaptured - s.13(1) income inclusion which offsets the 1,000 deduction in 1995

$2,000 taxed as a capital gain - s.39(1)(a) 

1997
Assume that you sold the asset for 9,000.  Then take the lesser amount of cost or proceeds from disposition = 9,000

$0 Opening UCC = (10,000 + 0) - (1,000 + 9,000) = 0 – s.13(1) = nil

1996 Assume you don’t sell the item

Opening UCC = 9,000

No taxation in 1996

Closing UCC = 9,000 x 20% = 1,800

Note:  the half-year rule does not apply here – it only applies for net additions in the year.

1997
7,200 Closing UCC   A= 10,000    E=1,000+1,800

1996
9,000 opening UCC

proceeds from disposition = 12,000

A=10,000;

B=all previous recapture amounts before the particular time = 1,000 s.13(1) recapture inclusion 

E=1,000

F=10,000

So opening UC C = 0

Example 2
In 1995 X purchased a class 8 asset (20%) for $10,000. In 1996, the asset was sold for $12,000 and further assets were purchased for $20,000. What are the tax consequences? 

1996
$9,000 Opening UCC [see above]
$20,000 Cost of acquisition during year added under Part A of definition of UCC in s.13(21)
$12,000 Proceeds from sale 

F is limited to the original cost of $10,000 

$19,000 UCC ($10,000 net addition to the class)
A (30,000) - (1,000 + 10,000) 

But reg.1100(2) applies to net additions to class during year ($10,000)
This reduces the $10,000 to $5,000 for CCA purposes, so... 

$14,000 Closing UCC
$2,800 CCA for the year (14,000 x 20%) 

Opening UCC for 1997 is $16,200 (1996 UCC of $19,000 - 1996 CCA of $2,800) 

* Half-year rule applies to adjustments in the class, not to particular assets. 

Terminal Loss Example

1995 x purchases class 8 asset (20%)

cost = 10,000

CCA claim = 1,000    Reg.1100(2) reduced UCC to 5,000 for CCA claim in 1995)

1996

Opening UCC s.13(21)

A=10,000 E=1,000.  So UCC = 9,000

What if the sale of the asset obtained proceeds of 7,000

A=10,000; E=1,000; F=lesser of loss or proceeds of disposition = 7,000

Closing UCC = 2,000

s.20(16) recognise it as a terminal loss

Requirements:  A+B exceeds E+F and there are no more assets in the class. This says to the taxpayer that we didn’t give you enough for depreciation.

1997 Opening UCC = NIL

A=10,000; E=(1,000+2,000); F=7,000

Example p.507-508 Problem 12

1994 x purchases a class 1 (4%) building

cost = 100,000 (net additions to the class in the year of addition)

Reg. 1100(2) 50,000 x 4% = 2,000

1995 the half-year rule doesn’t apply because there is no addition to the class in that year.

Opening UCC 98,000 (closing UCC from 1994 – CCA deduction)

No sales, no taxes

Closing UCC = opening UCC = 98,000

CCA claim = 3,920 (4% of 98,000)

1996
Opening UCC = 98,000 – 3,920 = 92,080

So if there is a sale in 1996 for proceeds of 80,000

A=100,000

E=2,000+3,920

F=80,000

Closing UCC = 14,080

The half-year rule doesn’t apply because there is no net addition to the class

s.21(16) terminal loss claim of 14,080

1997 Closing UCC = 0

A=100,000; E=2,000+3,920+14,080; F=80,000

1996 Assume acquisition of another rental building at 50,000

Opening UCC = 94,080

Sale proceeds = 80,000

Cost = 50,000

Closing UCC = 64,080

No net additions to the class – you are reducing the class

4% of 64,080 = 2,363.26

What if the building is destroyed by a flood in 1996 and there is no insurance?

1996 – operating UCC = 94,080

disposition because the building has been destroyed.  13(1) says that dispositions include sales plus other involuntary transactions like destruction of property.  The definitions all talk about compensation received.

So disposition proceeds = nil (no insurance)

Closing UCC = 94,080

A=100,000; E=2,000+3,920; F=0

Closing balance = 94,080

Note:  we are not talking about the land – land in not depreciable and doesn’t fit into any of the classes – we are only talking about the building.

What if x transferred the building to husband in 1996 – a gift

Opening UCC = 94,080

s.69(1)(b) – rules – where property is transferred between related persons, we will deem that that property was transferred and that x received proceeds equal to the fair market value.  X will be taxed for this.  It is the same as selling the property for 100,000 and giving the money to the spouse.

Proceeds from disposition = 100,000

A=100,000

E=2,000+3,920

F=100,000

Closing UCC yields a notional negative of 5,920

Since A+B<E=F so nil

s.13(1) recapture = 5,900 notional negative must be included in as income

1997 

A=100,000; B=5,920; E=2,000+3,920; F=100,000

So opening UCC = nil

Problem Page 507, q.13

1994 x purchases a class 8 (20%) asset at a cost of 5,000

ref.1100(2) 2500 x 20% = 500

1995 opening UCC = A(5000) – E(500) = 4,500

closing UCC = 4,500 – no tax

CCA claim 20% of 4,500 = 900

1996 Opening UCC = A(5,000) = E(500+900) = 3,600

sale proceeds = 4,500

A=5000

E=500+900

F=4,500

Closing UCC = -900 so nil

s.13(1) recapture = 900

1997

A=5000

B=900

E=500+900

F=4,500

Opening UCC – nil

Problem 13b

X acquires another asset in 1996 for 10,000

Opening UCC = 3,600

Sale proceeds = 4,500

Acquisition = 10,000

A = 5,000+10,000

E=500+900

F=4,500

So closing UCC = 9,100

Reg. 1100(2) net additions to the class = 5,500

After the half-year rule = 2,750

Original UCC 3600+2750 = 6350 x  20% = 1,270

Closing UCC =  A=5000+10000;  E=500+900+1270; F=4500

Closing UCC = 7830 = Opening balance in 1997

INTEREST

Interest is the rent for the use of borrowing money

s.20(1)(c)(i) – interest on borrowing money is deductible if used for the purpose of earning money from a business or property

The Use Test – what about credit cards – Courts take a physical tracing approach – look at the paper/electronic trail to show where borrowing occurred and what you did with it.

Singleton SCC – direct use, physical tracking approach

He borrowed money to buy personal residence by drawing on his partnership account.  He then borrows money from the bank to reinvest in his funds. No problem.

For interest deductibility, you determine the use by tracking/direct use (s.20(1)(c)(i)

Income from property is not a capital gain

Fruit-tree analogy

Income is the fruit.  If you see a tree for gain, it is a capital amount unless you are a tree trader – then it is inventory.  Gains recognised when a property is sold is a capital cain.  Eisner (UK) says that gains are income.  Income is the current return on property that is generated passively.  If you borrowed money to buy shares, shares are an income earning process because they have dividends which may be consumes as the value of the shares increases.  

· 18(1)(a) – the income earning test

· The courts says – gross revenue test – you can deduct the return based on revenue

· So, you use your savings for personal purposes and borrow for income earning purposes

FYI – Eligible capital property used to be called “nothings”.  Intangible property eg. Goodwill, reputation.  If I pay you for your good will, it is a capital expense, not a depreciable property.  This also applies to certain patents.

Interest 

* ss. 18(1)(b), 20(1)(c), 20(3), 80.5 

(h) Property Income Inclusions 

* ss. 9(3), 12(1)(c) and (g), 12(4), 16(1), 74.1, 74.2, 74.5
* s.248(1) definition: "property" 

(i) Distinction between property and business income 

ss. 9 through 37 apply equally to business and property income, subject to some express provisions. 

(ii) Rent 

Uneconomic losses can be used to offset other (employment) income sources. But reg.1100(11) disallows the creation of a loss on a rental building (except where rental is your principle business). This is an example of the difference between property and business income. 

Walsh and McKay case

· Distinction between property and business income for individuals.  The distinction is important because rent from a property is income.

· Must provide "hotel-like" services for rental to be a business, otherwise just property (active v. Passive rental income) 

Examples of property income (passive returns for the use of property - activity in these areas may be escalated to constitute a business income): rent; interest income (s.12(1)(c), 12(4)); dividends (12(1)(j)); royalties and earnouts (s.12(1)(g)) 

see Holinger case

Exceptions = Reg.1100(11) interest, income attribution

(iii) Interest 

· See p.318 for example on interest / investment contracts

· Recognize interest accrued daily up to anniversary date within the taxation year.

· Under 12(4), recognize entire year's interest in year of anniversary date.

· Must recognize on the earliest of: receivable; accruable and s.12(4) maximum deferral

· If disposition occurs before the end of the 1-year period, that becomes the anniversary date.

· S.20(26) gives a deduction for over-accrual to offset accrued interest no received.

· If doubts about collecting interest income, use bad/doubtful debt reserves etc. 

Timing Rule for Deductibility of Interest s.20(1)(c)

· "payable in respect of a taxation year"

· An accrual basis taxpayer must recognize interest on same accrual basis

· Can deduct on a daily basis

(iv) Royalties and Payments based on Production or Use of Property s.12(1)(g)
amounts contingent on revenue generated by property
Earn out arguments

e.g. I sell you property and you don’t get the price you want.  So you say pay me 100,000 and I will take a percentage of the revenue you earn from it.  The argument is that it is a capital gain.  But s.12(1)(g) of the Act says that it is a royalty, an earn-out payment of production from use of property.  It is on the cash basis not the accrual basis.  Dividends from shares are also on the cash basis (s.12(1)(2))


Interest Income

I lend you 10,000 and charge you 10% interest.  If you are not in the business of lending money, s.12(1)(c)  says you have to recognise this as interest income as interest from property.  It is a non-capital gain.  S.12(3),(4),(9) have rules on how to deal with this.

So if you lend 10,000 on July 1,1998

On Jun 30,1999 the interest is due/receivable – unconditional legal right to the money.  If there were a payment date on Dec 30/98, you would include that in the 1998 tax return.

s.12(1)(c) you have to include interest in your income – must be included in year received or receibable

s.12(1)(c) – 1,000 in 1999 taxation year

Interest accrues on a daily basis.  1,000 can be spread over 365 days compounded daily.

Three timing possibilities with interest

· Cash – as received – this is used for corporations

· Receivable – as it is due, when time for payment arrives

· Accrued on a daily basis – you spread the interest on a daily basis over the time period of the loan

The rule for individuals is that it occurs on anniversary dates – s.12(4).  So if a contract is issue on Jul 1/98, the anniversary date is on June 30/99 – one day immediately preceding the date of the contract in the following year.  S.13(4) limits the rule in s.12(1)(c) – it puts you on the accrual basis for a 1 year period.

Example
July 1/98 – loan 10,000 for a period of 2 years at rate of 10% interest

Year 1:  June 30/99 – interest = 1,000

Year 2:  July 1/1999

Year 3:
June 30/2000

Under s.12(1)(c), the only due date is June 30/2000.  It is recognised when received or receivable.  Nothing is paid or due in 1999 or 1998, it is all due/paid in 2000.  See 12(4) rule – it accelerates the recognition of some interest income.  In this example you have 2 anniversary dates – June 30/99 is the first date.  You must include the interest up to that day compounded daily.

1,000 has accrued from July 1/98 to June 30/99.  Include 500 accrued in 1998 and 500 accrued in 1999 both in the 1999 taxation year.  The next date is June 30/2000.  Another 1000 has accrued. Since you only recognised 1000 in the previous year, you recognise the other 1,000.

Capital Gains and Losses = the second traditional source of income

If you hold assets, the gains from the asset are income.  If it is passive, it is property income

1) if it is profit from the change in value of an asset, it is a capital gain

2) it is income from a business if it is inventory and you are in the business of buying and selling that asset.  But if you are not in the business of buying and selling the asset, it is a capital gain/loss.

Capital gains are taxed at a ¾ rate – it is a lower tax rate because of a preference for capital gains. 

(a) Basic Elements 

Statutory regime -  ss. 39(1)(a) and (b) , 38(a) and (b), 40(1)(a)(i), 40(1)(b), 43

s.218 – definition of business


* s.54 definitions: "adjusted cost base", "capital property", "disposition", "proceeds of disposition" 

ss. 38-55 are the calculation rules for CG&Ls. All these rules go back to s.3(a). Capital gains and losses are included under s.3(b). s.3(b) allows inclusion of "net taxable capital gains". 

Factors relevant to the distinction between capital gain/loss v. Business income/loss

(a) Intention – primary v. secondary

(b) Resources

(c) Course of conduct

(d) Expertise

(e) Frequency of transactions

(f) Subject matter of transaction (I) commodities (II) securities

Characterisations

· If the court says that you are in the business of buying and selling assets, the gains and losses are business income.  

· The grey area is the concept of “adventure or concern in the nature of trade” – if your purchase or sale of an asset is this, it is a business loss/gain not a capital expense.
· It is all about intention.  The question to ask is “What was the intention of the taxpayer when he purchased the asset?”  Was it purchased for dividends or with a view to selling it?  Look at the facts to make inferences about intention.  The facts relate to points (b) to (f) above.
· In Regal Heights, a distinction between primary and secondary intention was made (p.314) – this is a nonsensical distinction.  Almost everyone has a secondary intention to sell an asset when they buy it.  For the most part, just look at the primary intention
· If the tax payer spent the money only once, it is not determinative of a capital expense
· The subject matter of the transaction is important, particularly securities.  Unless you are a registered dealer in securities, we will consider all your trades on capital accounts (Irrigation Industries).
· Commodities cannot generate a current return;  you can only reduce values in the form of change in value of that asset but Revenue Canada in IT479R said that unless you are a registered dealer, it is a capital gain/loss
Basic Elements of CG&L Calculation Rules
Except for ss.38, 39, 40(4) and 54, all other rules are "special situation rules".
s.38(a) and (b) contain the 3/4 rule for CG&Ls - preferential inclusion rate. 

"Quarantine" rule
Capital losses can ONLY be offest against allowable capital gains, not against other income sources. This goes to the basic timing rule for CG&Ls. A TP could otherwise accelerate recognition of losses and use it to offset employment income (a tax shelter for other income sources). Without the rule, a TP could adversely select recognition against the government. 

· s.40(1)(a) sets out basic calculation rules for capital gains. (i) is the basic rule. (Ii) and (iii) are reserve provisions.  The gain from the disposition of property is the amount your proceeds exceed your expenses in disposition and the cost of the property (adjusted cost base ACB)

· s.40(1)(b) sets out basic calculation rules for capital losses .  A loss is a loss from the disposition of property -–the amount by which the costs of disposition exceeds the proceeds of disposition

Calculation rules depend on the meaning of the following terms in s.54. 

(a) "disposition" - any transaction entitling a TP to proceeds. This is an inclusive definition. See La Compagnie Immobilier case. Clear authority for proposition that disposition includes giving up property without proceeds. Since it had a cost, it would generate a capital loss. 

(b) "proceeds of disposition" - (1) sale price [subs.(a)]; (2) any involuntary disposition [subs.(b)-(f)] entitling TP to proceeds. **Ignore subs.(g)-(k) 

(c) "adjusted cost base"  - where property is depreciable, the adjusted cost is the sale price, the invoiced price, the original lay down cost.  For non-depreciable property (land, shares), it is the cost adjusted in s.53 (this has mainly to do with trusts and partnerships).  For our purposes, ACB = cost of property.

(d) "expenses of disposition" – certain expenses incurred to sell the property (legal fees, commissions, etc)

· There is no direct definition of CG&L

· 39(1)(a) defines it as "gain from the disposition of property". The words in parentheses mean: realization of gain or loss from the disposition of property, where you are not in the business of selling such property, is capital gain / loss - not a business (adventure in the concern of a trade) or property income.
--> notionally ignore s.3
--> ask whether gain would be included without s.3
--> older case law says no.
s.54 definition of "capital property" - refers you to old case law on adventure v. CG&L.

· CG&L is a residual basket class based on old case law. 

s.39(1)(b)(i) excludes specific categories - no capital loss on depreciable property (loss, if any, will be recognized through CCA)

 
Business Income vs. Capital Gains or Losses 

* ss. 9(1) and (2), 39(1)(a) and (b), 39(4)-(6)
* s.248 definitions: "business" and "inventory" 

Definition of "business" in 248(1) includes an adventure or concern in the nature of trade. Classification depends on intention of the taxpayer. 

Factors relevant to distinction:
(a) intention: primary vs. Secondary - see Regal Heights case - "secondary intention to sell" - ridiculous - everybody has intention to sell at some point.
(b) resources - does TP have the expertise / capital to develop the property. No resources = no capital gain / loss.
(c) course of conduct - Taylor case - conducted activities as a trader would have.
(d) expertise - makes it very difficult for people with expertise in an area to argue anything but business income.
(e) frequency of transactions - one-shot deal can still be an adventure. But more than one will cause the adventure to move closer to being a business.
(f) subject matter of transactions

(I) commodities - see IT-346 - unless registered trader / dealer in commodities, will be treated as CG.
(II) securities - must argue that TP is buying shares for current dividend return. - see s.39(4)-(6) - casual traders can file election for capital treatment (for Canadian securities) - Losses and gains are on capital account - NEVER ADVISE A CLIENT TO FILE THIS ELECTION because it is against your interest if you have a loss because you only get ¾ of the loss.  If you have a loss, you want to argue that it is not a capital loss to get full recognition of the loss.

(g) underlying transaction e.g. damages from breach of contract.  The court says look at the subject matter of the contract and see if it relates to an underlying asset.  It the subject matter is a capital asset or ordinary income, it is taxed accordingly.  E.g. foreign currency exchange losses/gains – look at the underlying transaction – What did you use the currency for?

Taxable Capital Gains & Allowable taxable losses

· ¾ inclusion rate of your gain in s.40(1)(a)

· ¾ losses recognised in s.38(1)(b)        (s.38(c) – business losses)
· Allowable capital losses are only recognised to the extend you have recognised capital gains
Deferred Payment Reserves 

· ss.40(1)(a)(ii) and (iii), 40(2)(a) – same rationale for reserves as 20(1)(n)

The reserve is the lesser of (a) and (b)

(a) proceeds not due yet​  x gain = reasonable reserve (i.e. the fraction of the gain represented by the

           total proceeds                           

    portion of the total proceeds not due at the








    end of the year)

(b)  (1/5 of gain) x (4 – number of preceding taxation years ending after disposition)

Problem p.69

X has land – cost 35,000 in 1975

1996 – he sells ½ of it for proceeds of 45,000

real estate commission (expenses of disposition) = 2,500

Tax consequences:

s.43 – assume that the property has equal value, attribute ½ of cost to the part sold = 17,000

s.40(1)(a)(i) – 45,000 proceeds – (s.43=17,500 cost + 2,500 expenses) = 25,000 profit

s.38(a) - ¾ x 25,000 is taxable capital gain

Problem 2 Page 69

1994 – X disposes of a building (assume that it is non-depreciable, not a principle residence)

Proceeds = 50,000

1974 cost = 20,000

40(1)(a)(i) – gain for disposition definition (proceeds – ACB – expenses of disposition)




50,000 – 20,000 = 30,000

s.40(1)(a)(ii) and (iii) set up reserves.  You don’t need a reserve if it is advantageous to claim a 30,000 gain in 1994.  The reserve is the lesser of (c) the reasonable reserve and (d) the 1/5 rule:

(c) = 30,000 x 20,000/50,000 = 12,000

(d) = (1/5 x 30,000 = 6,000) x (4 – number of preceding taxation years ending after disposition)

= 6,000 x (4 – 0) = 24,000 (maximum reserve)

gain = amount s.40(1)(a)(i) exceeds s.40(1)(a)(iii)

gain = s.40(1)(a)(i) 30,000 – s.41(1)(a)(iii) 12,000 = 18,000

s.38(a) ¾ x 18,000 = 13,500
1995

Bring back the previous year’s reserve 40(1)(a)(iii) = 12,000

s.40(1)(a)(iii) is the lesser of 
(c) 30,000 x 15,000/50,000 = 9,000




    
(d) 6,000 x (4 – 1) = 18,000

1996
s.40(1)(a)(i) = 9,000 exceeds s.40(1)(a)(iii) which is the lesser of (c) 30,000 x 10,000/50,000 = 6,000









 (d) 6,000 x (4-2) = 12,000

9,000 – 6,000 = 3,000     ¾ of this = 2,250 (s.38(a))

1/5 Rule

year of disposition – 4/5 x gain = 1/5 of gain has to be recognised in the year of disposition

Year 2 – 3/5 of gain = 1/5 of gain has to be recognised in year 2

Year 3 – 2/5 of gain = 1/5 of gain has to be recognised in year 3

Year 4 – 1/5 of gain = 1/5 of gain has to be recognised in year 4

Year 5 – nil = 1/5 gain has to be recognised in year 5

BAD DEBTS – using the same example above

X sells a building for 50,000

30,000 cash down and promissory note to pay 20,000 over the next 4 years

The promissory note is property the promissor will be charged the market rate of interest on this.  The promissory note has a cost.  The cost of the asset is the cost given up for that asset, in this case, the 20,000 promissory note.

1995 buyer declares bankruptcy and X doesn’t collect on promissory note.  So he forgives debt.  Is he entitled to a reserve

The reserve is the amount s.40(1)(a)(ii) exceeds s.40(1)(a)(iii)

s.40(1)(a)(ii) = 12,000

s.40(1)(a)(iii) is the lesser of 
(c) 30,000 x nil/50,000 = nil and





(d) 6,000 x (4-1) = 18,000

If you sell the promissory note to someone, the reserve ends s.50(1) para. a – a promissory note is a debt owing to a tax payer at the end of the tax paying year.  In this case, you have disposed of the obligation as part of the bankruptcy proceedings, so 50(1) does not apply.  Proceeds are nil.


Cost = fair market value of what you gave up to get promissory note = 20,000


s.40(1)(b) = (20,000) loss

So when you put the disposition of the promissory note and the disposition of sale of the property together, what is the effect on the taxpayer?  In 1994, 30,000 is recognised;  In 1995, 12,000 + 20,000 loss - $10,000 gain.

s.50(1) – where you elect, you are deemed to have disposed of the obligations for nil proceeds.

So 1995
s.40(1)(a)(ii) 12,000 exceeds

s.40(1)(a)(iii) lesser of
(c) 30,000 x nil/50,000 = nil

(e) 6,000 x (4-1) = 18,000

= 12,000

Note – there is no “doubtful” debt reserve – it is either good or bad.

Effect on a loss on disposition of capital property – the loss on the debt offsets any gains realised.

· So, subsection 1 deems a disposition to occur for income tax purposes

· The interest element of a promissory note or obligation is dealt with separately – on an anniversary basis for individuals.  If the obligations becomes impaired, you must recognise the interest income and you can claim a bad debt with respect to the interest income.

· s.40(2)(g) deals with losses.  It deems losses to be NIL in certain circumstances – transfer to a non-arm’s length person or acquired for the purposes of producing income from a business or a property.
· S.40(2)(g)(ii) says that losses from a disposition or a debt are NIL.  This section has the fair market value rule for arm’s length transfer.  So if you decide to forgive the debt to your family member, you might want to accrue losses and deductions but s.40(2)(g)(ii) prevents this from happening with the fair market value rule.
· S.9(3) income from property is not a capital gain unless you charge interest on the note in a non-arm’s length transaction.  
· When it is a non-arm’s length transaction, the loss from a promissory note = nil unless the note acquired for an income earning purpose.
PERSONAL USE PROPERTY

S.54  (P.333 of text)  2 consequences
(1) If I buy a yacht for 25,000 and sell it for 40,000, if the yacht is only for personal use but has appreciated in value, so you recognise the capital gains regardless of it is personal property so¾ is taxable.  Note:  for principle residences, you exempt the gain.

(2) If you sell the yacht at a loss for 15,000 and recognise 10,000 loss, you cannot recognise this as a capital loss

s.40(2)(g)(iii) deems the loss to be nil.  If you incur an expense or a loss on personal property, it is a loss attributable to personal use/consumption and it is not recognised for income tax purposes – it is deemed to be nil.  There is an exception under s.50(2) – you can recognise the loss on a debt obligation that is itself personal use property to the extent that you recognise the gain on the sail of the underlined personal use property.  S.40(2)(g)(iii) – other than listed personal property (LPP) defined in s.54 – this is personal use property that is all or in portion interest in collectibles (prints, stamps, etc) 40(2)(g)(iii) will not apply.  Listed Personal Property losses will be recognised against listed personal property gains – the rationale being that market forces are also at effect not just personal consumption.

Need to know 50(1)

s.46(1) read.  ACB + price of disposition = greater of $1000 or determined ACB or price of disposition. D

DE MINIMUS RULE FOR PERSONAL-USE PROPERTY
· s.46(1) – it’s a de minimus rule – anything that happens under 1,000 the Act doesn’t care about

· Assumes that you have at least 1,000 proceeds and a minimum cost base of 1,000

· Hasn’t changed at all since 1972 – used to be worth something then, now really a de minimus rule

· On an exam watch out!  Sometimes trying to catch us that this applies to both proceeds and cost
· S.46(2) says you have to allocate the de minimus rule on the same basis as you’re allocating your costs under s.43

· Something that’s sold as a set – have to allocate the de minimus allocation if sell the set in pieces

· Generally, this is just to simplify record-keeping – don’t worry about anything less than 1,000
Problem: Supp. p.71 #4

· Purchased car (PUP) at cost of $3000, sold it for $1000. Loss under 40(1)(b) = $1000, deemed NIL by s.40(2)(g)(iii)

· Purchase 6 chairs (PUP) at cost of 300 ea. Sold for $400 ea. s.46(1)(a) and (b) - de minimus rule - no requirement to keep records for items under $1000 (proceeds or ACB). s.46(2) requires TP to subdivide the $1000 limit and allocate to the various parts, if PUP is sold in pieces but would ordinarily be sold as a set. TP cannot dispose in parts to get multiple access to the $1000 minimum cost base rule in 46(1). Section 46(3) deals with part disposition of sets. It treats part disposition as the sale of an individual asset when all parts are sold to the same person. 

Listed Personal Use Property (LPP)

· Purchased stamps at $23,000. Sold them for $15,000. Loss under 41(b) of $8,000 not deemed to be NIL under 40(2)(g)(iii) because LPP.

· s.41(1) requires inclusion of 3/4 of net gain on disposition of LPP.

· s.41(2)(a) provides that LPP gain = realized LPP gain - realized LPP losses.

· s.41(2)(b) provides that LPP loss can be carried back 3 years and forward 7 years (loss carry over). The section is drafted from the perspective of the current taxation year. Therefore, can deduct from 7 immediate preceding years and 3 following years.

· s.3(b) requires TP to bring into income net capital gains. Under quarantine rule in 3(b)(ii), LPP gains can only be offset by LPP losses. Other capital losses can be writen off against realized gains on LPP.

s.41(3) deals with LPP losses.

Principal Residence 

* ss. 40(2)(b), 40(4), 45(1) and (2), 54.1
* s.54 definition: "principal residence" 

· Gains on principal residence not taxed. This encourages home ownership.

· s.40(2)(b) formula: A - ((A x B) / C)

· Ignore subs.(d)
· To be covered by s.40(2)(b):
- must be an individual
- must be principal residence acquired after 1971. 

Formula determines gain.
A = gain under the general rule in s.40(1)(a)
B = 1+ the number of years that the residence was principal residence and TP was resident in Canada
C = Years of ownership after acquisition date.

Under s.257, formulas yielding negative numbers are NIL unless wording of section contemplates a negative result. 

Definition of principal residence in s.54
Property at some time after acquisition date was the principal residence

Subsection (a)

· Covers a housing unit

· Individual other than a personal trust

· Had to live in it (IT-124R discusses “ordinarily inhabited”) – seasonal occupation is deemed to be ordinarily inhabited by spouse, former spouse, and kids

Subsection (c)

· Must formally designate the property as your principal residence for the particular years in which it’s owned (important for part “B” of the formula)

· Only have to make designation when you sell it

· Principal residence has to be for family unit (spouse that isn’t separated and kids under 18)

· Defines spouse as both common law and those with marriage licences

Subsection (e)

· Principal residence will include adjacent land, but only up to ½ a hectare

· If more than that, then have to prove that it’s necessary for personal use and enjoyment

· If stuck with a minimum amount of land because of municipal lot sizes, then can include it

The Change in Use Rules
· These apply to principal residences and other personal use assets.

· Section 45(1) deems a disposition to have occurred for FMV when change in use occurs. This is because it is treated as equivalent to sale and replacement of PUP.

· Rule applies to change from personal use to income earning and vice versa. Nobody really complies - observed more in the breach.

· Section 45(2) election and s.54.1 exempt TP from the "ordinarily resident" rule for principal residences. 


Supplement p.70 problem 3a – Ignore the fact that he dies.

s.40(1)(a)(i) = proceeds = 200,000

cost = laid down cost = 40,000 + capital improvement (10,000) = 50,000

Capital gain = 150,000

Assume that it is a principle residence

s.40(2)(b) – the gain is determined by the formula  A – (AXB)/C

A = gain otherwise determined = 150,000

B = 1 + the number of taxation years after the acquisition date during which it was your principle residence

C = number of taxation years that end after acquisition

150,000 – (150,000 X (1+24))/24

150,000 – 156,250 = a loss (negative number) deemed to be nil

You can only have 1 principle residence per taxation year.  The 1+ rule is there because you can sell your house and buy another house in the same year.  This rule ensures the result will be that you have only one principle residence.  It does not matter which residence you elect as your principle residence.

CAPITAL GAINS PROVISIONS NOT RESPONSIBLE FOR (but in syllabus)
· s.40(2)(a)

· s.40(4)

· s.54.1

· s.46(2) and (3)

· s.50(2)

· s.13(4)

· s.44

PRINCIPAL RESIDENCE POINT NOT MENTIONED IN LAST CLASS

· US can deduct mortgage interest – this reduces their income tax rates to make them a lot lower, but in high income state like California, their nominal tax rate is just as high as ours
FAIR MARKET VALUE RULE – s.69(1)
· Fair market value rule

· No significant wealth duties, death taxes, etc. – only concerned with accretions, or additions to wealth

· This is not a gift tax or a wealth tax
· If disposition, then proceeds will be deemed to be of FMV, which then triggers other aspect of income tax system

· Rationale

· Someone gives family member property

· DofF – sale is equivalent to sale to arm’s length party; pay tax on proceeds; give whatever’s left to donee

· Deemed donor to have received proceeds of disposition equal to the FMV; donee will take cost of disposition

ROLLOVER
· If give property to spouse, then s.69(1) will apply – gains or loss will be recognized

· This says can recognize

· Disposition and transfer, but proceeds to transferor will be equal to ACB of transferor (doesn’t recognize a CG or a CL); gain to transferee will be ACB of transferor

· Shares bought for 50, worth 75

· Transfer to spouse for 50 even though worth for 75

· This applies in the corporate context

· Rationale – changing form of ownership in same familial or economic unit (Edgar doesn’t really think this is convincing, but it’s the best argument for this rule)

· All about timing

ATTRIBUTION RULE
· Have to have transfer before this can apply

· Progressive rate structure in this country; each individual is a tax paying unit

· When passing off income to kids, then the transfer is done purely for tax benefits

· These rules attempt to prevent income-splitting

· Where these apply, they will take certain types of income on property will be attributed from the kids back to the transferor

· Focus primarily on passive property income – easiest to move around for purely tax purposes

SUPP. MATERIALS Pg. 72 #12
X gives a building to his child in 1996.  (The building is the cottage property, which makes it non-depreciable because it’s a personal-use property. Reg 1102(c).)  The building has a current fair market value of $50,000.  X acquired the building in 1983 at a cost of $30,000.  What are the tax consequences of the sale?
· s.69(1)(b) – gift

· s.69(1)(b)(i) – not arm’s length or proceeds let than market

· Transferor is deemed to have received proceeds in the amount of that

· S.251(1) – related persons are deemed to be not arm’s length and for everyone else (non-related persons) it’s done based on fact

· S.252 – code of relationship; related to in-laws; if have child together, then related; nieces, nephews, uncles and aunts are not-related (but can bring them in if need to); if related, then not arm’s length

· Fair market value and rollovers, think of

· What’s the income tax consequences to transferor – gain or loss on the transfer

· What’s the income tax consequences to transferee – what’s the cost base to the transferee

Transferor

· X and child are related, so not arm’s length, so s.69 applies

· S.69(1)(b)(i) – deem proceeds of 50,000 received by X

· Proceeds deemed to be FMV at the time of the disposition

· S.40(1)(a)(i) gain is 20,000

· Can you take a reserve under s.40(1)(a)(iii)? – NO, because s.69(1)(b) deems receipt to be in year of disposition, so no amount due beyond the year, so no reserve permitted

· S.69(1)(b)(i) would not apply is if transfer for proceeds less than FMV – i.e. if transfer was done with a person at arm’s length

Transferee

· S.69(1)(c) – transferee deemed to have received the property at the FMV at the time of disposition

· Forcing transferor to transfer it at FMV

· Kid acquired property at 50,000

· Transferee will be taxed on any CG or CL recognized from time of receipt

· Treated as if X sold land, gave kid money, then kid used money to buy it back again (the outside costs of real estate fees could be similar to transfer fees)

· Cost rule says where taxpayer has received property in gift, inheritance, etc. cost is stepped up to FMV

· If adult child pays 20,000 for property, then s.69(1)(b)(i) says to X deemed to received FMV if sold to not arm’s length person at less than FMV

· Kid hasn’t acquired it by gift (transfer without consideration), benefit or inheritance

· S.69(1)(c) says to kid that only get 50,000 cost (FMV) where acquire it through gift, benefit or inheritance – didn’t do so here, so cost base for kid is 20,000

· But if do it this way, then taxing it twice, since kid could turn around and sell it for 50,000 and make another 30,000 on it

· Allfine Bowlerama
· Where partial consideration, then s.69(1)(c) will still apply, the tax base to the transferee is stepped up to the FMV to avoid having the double tax

If the property was depreciable, that is, was used for an income-earning purpose, what would be the tax consequences then if UCC is $27,000?
· S.69(1)(b)(i) still applies to transferor, since still deemed to receive proceeds of FMV, or 50,000

· S.40(1)(a)(i), the capital gain, is 20,000 (can’t have capital loss, since accounted for under the UCC / CCA regime)

· S.13(1) gives you 3,000

· S.13(21) formula
= [A + B] – [E + F] = (30,000 + 0) – (3,000 + 30,000)

· F = proceeds up to the original cost of the property

· This section says that where the (A+B) is less than (E+F), then that excess amount is included in income

s.13(7)(e)(i)
Five conditions

· Individual transfers property

· Capital property to the transferor

· Transfer not at arm’s length

· Property is depreciable to the transferee

· Cost of property to the transferee is greater than the cost of property to the transferor

· Section says to cost that for UCC / CCA purposes, your cost is equal to cost of property to transferor + ¾ of the gain by the transferor on the transfer = 30,000 + (75% x 20,000)

· Where parties are arm’s length, then there are other factors than tax that are determinative to the transactions

· If they are of arm’s length, then worry about it – might 

· Think of this provision, when non-depreciable property is transferred between non-arm’s length people and it becomes depreciable property after the transfer

· Transferee will only get depreciation base that’s equal to the gain realized by transferor on transfer

· Don’t get to depreciate other ¼ bit

· If it’s non-depreciable to the transferee, then this section is irrelevant because there would be UCC

ROLLOVER EXAMPLES
s.73(1)

X transfers building.  1996 FMV = $50,000; Cost = $30,000; UCC = $27,000.
· FMV rule in s.69(1) is subject to anything more specific – like s.73(1), which, if applies, overrides the general s.69(1)

· S.73(1)

· Conditions

· Must have transfer

· Capital property to transferor (i.e. doesn’t apply to any inventory)

· Transferor transfers capital property to spouse, former spouse where rights aroise during marriage, or a spousal trust (trust set up where spouse gets all the income for life)

· Only applies to residents

· Applies automatically unless the transferor elects out

· S.73(1)(f) is the effect of the provision if it’s non-depreciable property

· Property is deemed to have been disposed of, by the taxpayer (transferor) for proceeds equal to the ACB of the property at the time immediately before the transfer

· Thus, under s.73(1)(f) the proceeds to X are 30,000

· End of s.73(1) says that the transferee is deemed to have acquired the property at the amount of the proceeds of the transferor

· Y would be taxed on the disposition of the property for 50,000

· S.73(1)(e) is effect of provision if depreciable property

· Tax cost of depreciable property is UCC if it’s the only asset in the class

· Thus, the proceeds to the transferor is 27,000 (the UCC value)

· S.13(21) = [A + B] – [E + F]

· A = original cost = 30,000

· E = depreciated CCA = 30,000 capital gain – 27,000 current UCC = 3,000

· F = lower of proceeds to transferor or FMV (s.73(1) says UCC is proceeds) = 27,000

· So = 30,000

· Since second half is lower, then there’s no recapture

· S.73(2)(a)

· Basic rule to the transferor is could transfer it at UCC – no CG, no CL, no recapture

· Where it’s depreciable property, then can use the rule in this section

· When transfer it, then the amount fixed to the cost to the transferee is less than the original cost to the transferor (i.e. 27,000 is less than the 30,000), then the transferee, for UCC / CCA purposes, is deemed to have acquired the property at the cost of the transferor and depreciated it yourself down to the current UCC

· Transferee steps into shoes of transferor

· So when transferee sells property, then the s.13(21) calculation is same as to transferor

· [A + B] – [E + F] = [30,000 (because of s.73(2)) + 0] – [3,000 + 30,000] = (3,000)

If the transferee sells the property immediately after transfer, assuming it’s still considering depreciable property, then recapture is still available

· Cost under s.73(1) is 27,000; get 50,000 in proceeds when sell; 23,000 of gain

· Definition of capital gain is that that 23,000 is capital gain unless it’s taxed somewhere else in the Act

· The 3,000 depreciation is taxed during the recapture in the CCA regime so it isn’t taxed again here, so remove it from the capital gain amount

Problem

X has shared – a non-depreciable capital property…  Cost = 25,000, fmv = 20,000

XX transfers shares to spouse Y – an arm’s length individual

If he accrued a loss, he might want to the elect out of the rollover option.  If you allow s.73(1)(f) to apply, proceeds to X of 25,000 ACB and the cost of 25,000 to Y.  Y inherits the transferor’s cost base.  But X can elect out of s.73(1)(f) because they want to recognise accrued losses.  Maybe they have some capital gains.  The effect of electing out is there is no rollover – we assume it is a gift of property and treat it as a s.69(1)(b)(i) an arm’s length individual transfer.  Transferee inherits a cost base = fmv.

Transferring between family members, X artificially triggers accrual of a loss when they transfer to Y.  X still retains exposure to property but for tax purposes, X and Y as one economic group get to recognise the loss.

 Superficial Losses 

* ss.40(2)(g)(i), 53(1)(f)
* s.54 definition: "superficial loss" 

These are also called wash-sales in the US.  They are not real losses just artificial losses because of timing and because transfer is between the same economic unit. 

Section 54 - where you sell an asset and within 30 days (on either side – 60 day window) you purchase the same or a similar asset, there is no recognition of loss. 

A loss that is a superficial loss is deemed to be NIL by s.53(1)(f).  So the fmv rule will apply to Y.

Cost = 20,000 fmv + 5000 superficial loss that occurred in transfer.  So Y has ACB of 25,000.  So Y can add cost of superficial loss to asset.

s.74.1 (1) and (2) – Attribution rules – deal with who is taxable on certain types of income after transfer has occurred.  74.2(1) – capital gains and spouses

Supp. Mat. Problem

X has a rental building – generates a taxable income under s.9

Cost = 50,000  fmv = 100,000

Transfer to spouse in 1995

s.73(1)(f) = 50,000 rollover applies – deferring recognition of transfer

cost to spouse = 50,000

Must be a transfer of property – 74.1 (1) or (2) relates to related persons whether a person is either a minor (child, niece, nephew) or a spouse.  Where an individual has transferred or lent property either directly or indirectly to a benefit of his spouse, any income or loss to that person is deemed to be income or loss of the transferor not the transferee.  

So if the building is making 10,000 of income from rent, this is passive property income (or loss) and is attributable to the transferor and he will be taxed on it.  This is a result based anti-avoidance rule.

Sub (2) – transfer to a child of X, rollover rule in s.69(1) would automatically apply and X would have to realise 50,000 gains on transfer.  For all years for which the child was under 18, income would be attributed to the transferor not the child.

74.2(1) – attribution rule that applies to capital gains or capital loss transfers.  74.1 is only property.  When it is a transfer of property to a spouse, any capital gain or loss on the transferred property realised by the transferees spouse will be realised by the transferor (as long as Y remains the spouse of X).  24.2(1) only applies to spouses, not minors.

Exceptions

74.5(1) – 

para (a) if fmv consideration passes between the parties (consideration received by transferor from transferee), it is the same as the fmv

para (b) where a promissory note or debt obligation is taken back, it is the fmv on that note.  You have to charge the market rate of interest and the transferor must pay

para (c) parties must elect out of the rollover when there is a transfer between spouses.

s.74.5(3) – Spouses living apart, attribution rules do not apply because you are living separate or apart by reasons of breakdown of marriage.  S.74.5(3)(b) – parties elect jointly out of election rule when they are living apart. 

Employment Income – tax basis is the amount received.  Deductions = amounts paid

1) Employees / independent contractors

2) General Charge Sec. V

3) Para 6(1)(a) – basic charging provisions for fringe benefits

4) Para 6(1)(d) – allowances

5) Deductions = s.8

Why a distinction between employees and independent contractors

1. Deductions – for employees is severely limited – only provided for in s.8.  No general provision like 18(1)(a).  Strict approach assumes that employees do not bear many income earning expenses – simplicity is the key

2. Cash basis for employees.  If you are a sole proprietor/independent contractor – accrual basis.  Significant difference in timing principles.  Cash basis is more subject to manipulation and is used because the employers bear most of the expenses not the employees.

3. Withholding and information reporting.  As an employee, an employer has the obligation to estimate your tax payable, withhold amounts and these are remitted by the employer.  There is a statutory provision for this – no such obligation for independent contractor.  This provision ensures that the tax is paid.  The employer will provide the information – i.e. a T4

4. Whereas for independent contractors, he has to report, no-one else will do it.  No provision for matching the amount.  Only s.248 individuals can be employees, not corporations or organisations.  

5. Payroll taxes, unemployment insurance, etc.  only applies to employees.

The court draws boundary line3s between employees and independent contractors.  How do we define the boundary?  Labour law has to make the difference.  E.g. control test (Montréal Locomotive)
4 fold test: control/ownership of tools, chance of profit/risk of loss, who controls revenue, who controls pricing, is there an employment relationship, how many people does the tax payer work for – see Wiebe Doors
Independent contractors are on the accrual method because with employees, there is satisfaction to control / apply accrual accounting method.  There is an intermediary between the employee and the person providing the services.

Practical approach:

· Are you an independent contractor?

· Do you work alone or with lots of different people?

· Is there an intermediary there?  This is the distinctive factor.

· Are you issued with a T4 – if yes, you are an employee!  If not, you could file as an independent contractor – limited auditing to check.  Now, in our system, there is a check-box – do you want a T4 or not.  If you want to be an independent contractor, don’t check the box!

Revenue charge – s.5 

Charge = all amounts received for services rendered.  Use the causal connection text.  

Section 5 has definitions of salary, wages, gratuity and remuneration.  S.5 does not touch the fringe benefits question.  E.g. Savage – taxpayer took course that helped her gain expertise.  She didn’t have to take the course but there was a rational connection between what she did and the course.  Employer pays her $500 for taking the course – since there was a connection between employment relationship, it is a fringe benefit and not part of s.5.

Section 6(1)(a) - Fringe Benefits

· Cash benefits provided in employment relationship, but not directly for provision of services

· Benefits in kind (property other than cash) 

Interpretation
(a) "in respect of" an office or employment

· see Savage case (S.C.C.) - "widest possible words" - can be direct or indirect

· Tests range from "causal connection" (ie. provision of services = compensation) through "primary purpose" to "but-for test" (ie. but for the employment relationship, would the TP have received the amount?) Under the but-for test, if there is ANY connection between the employment relationship and the benefit, then it is "in respect of" the employment relationship. 

(b) "benefit of any kind whatever" e.g. health club memberships (see s.6(1)(a) and (b)

(c) "value" of benefits 

Allowances 

** s.6(1)(b) and s.6(6); 18(1)(r) 

6(1)(b) Basic charge to fringe benefits tax.  General rule for including any benefits that arise in the course of an office or employment.  Any benefit should be taxed because it is a net accretion to wealth.  You need a causal connection with employment relationship.  Section 5 says that it has to be a direct causal connection but only with respect to cash:

1. para 6(1)(a) says that the amount must be received in respect of employment – the question to be asked is “but for your employment relationship, would you have received that amount?”  If so, it is taxable (though the courts only use the primary purpose test – it is more vague to define “in respect of” – so Edgar uses the but-for test.)  Is a gift of stock options an employment benefit?  X received benefits from a testator.  The court said it was a gift which was not a fringe benefit.  It used the causal connection test – must see the intention of the testator.

2. it must be a benefit.  What is a benefit?  Reimbursement cases, relocation cases.  In Branson he was reimbursed for moving expenses.  The employee was held harmless to expenses because he was reimbursed by the employer.  There was no benefit in the reimbursement.  The problem was, if it was personal use property, it is non-deductible.  The court said that because there is no benefit, it is non-taxable.  An otherwise personal non-deductible expense becomes a non-taxable reimbursement.

3. bring in value of any benefit – include an amount the value equal to “what it would have taken you to purchase the same item from a non-arm’s length person/”  Your savings are increased by that amount.  If no readily available prices, e.g. use of home rent free, you can construct the value.  “What would 2 arm’s length persons willingly pay for it?” – fmv.

Allowances – not on exam

6(1)(b) – employer says to employee, “I will provide you with an estimated allowance to defray your income earning expense.  This is different from a reimbursement because the amount is fixed.  We think you will spend $500.  Here’s $650 – if you spend more or less, we don’t care.  All allowances must be included in income.  If allowances are with respect to certain income earning expenses (usually on the road travel) and the amount is reasonable, you don’t have to include allowances.  If the amount is unreasonable, include any amount and deduct allowances.

Deductions

S.8 – ad hoc provisions to provide deductions for certain amount.  Provisions contain which expenses are recognised.

s.8(1)(i) – professional dues, union dues, rent for office space, salaries of assistant – “supplies that are consumed in the course of carrying out employement” 

Income, Taxable Income, and Tax Payable 

(a) Net Income 

Section 3 brings all the income sources together. 

(a) total income other than taxable capital gains, includes employment, business or property income (all positive amounts) worldwide. 

(b) income from capital gains less allowable capital losses in the year.
(i) Net taxable CG's from dispositions during the year (other than LPP)
(ii) Allowable CL's from dispositions during the year (other than LPP)
You include the amount, if any, by which (i) exceeds (ii). If (ii) > (i), then NIL. 

(i) Subdivision (e) deductions (section 3(c)) 

** s.3, 62, 63, 60(b) 

(ii) Current Year Losses (section 3(d) 

** s.3, 38(c), 39(1)(c) 

s.3(d) Current year loss offsets. Tax payer can offset losses from some sources against income from others. If (a)+(b)-(c) exceeds amount of losses within the year, Tax payer can deduct amount of loss. Tax payer is taxed on "global income"
s.3(d) does not allow the deduction of allowable Capital Losses against other income sources.
Quarantining rule – you can only deduct allowable capital losses if you realise taxable capital gains in the year.  Other losses can be deducted from other income sources in full because recognition of losses is non-tax driven.  So other types of losses are not quarantined.  

s.3(b) – Allowable Business Investment Loss (ABILs) – cannot be deducted against other sources.  Designed to encourage investment in small business 

Taxable Income 

Section 3(e): Income for the taxation year = (a) + (b) ­ (c) ­ (d) 

Section 3(f): If (e) is negative, then income for the year = NIL. 

(ii) Loss Carryovers 

** ss.2(2), 111(1)(a) and (b), 111(1.1)(a), 111(3), (8) definitions of "net capital loss" and "non capital loss" 

Section 2(2) taxable income = section 3 income LESS Part I Division C deductions (which include loss carryovers) 

See sections 111(1) and (2) for loss carryover provisions 

TP may deduct;
Section 111(1)(a) - non-capital losses – the excess of losses for a year under 3(d) over income amounts over 3(a) + 3(b) loss on income.  You can take the loss back 3 years and forward 7 years and use it to deduct it in calculating taxable income in any of these years.  (Taxable income loss cannot be less than NIL – take the earliest losses first until you reduce the balance to NIL.  You can open and refile your old tax returns.)
Section 111(1)(b) - net capital losses – See section 111(8) definitions – excess of allowable taxable losses realised in the year over taxable capital gains is available for carryover under s.111(1)(b).  You can take the loss back 3 years and forward indefinitely.

Non-Capital losses (most important part of the formula is "A")
A = E ­ F
E = business, employment, property losses for the year
F = s.3(c) amount for taxation year
Therefore, A = amount by which business, employment and property losses exceed income from those sources and capital gains for the year. 

Net Capital Losses
Ignore "C" and "D"
Basically A ­ B
The amount by which s.3(b)(ii) exceeds s.3(b)(i) 

* A net capital loss in year 1 and a non-capital loss (to the extent it exceeds income from non capital sources), from the perspective of the loss year, can be taken back 3 years or forward 7. see s.111(1)(a). 

eg. Loss in 1995 can be offset in returns for 1992-2002 

Section 111(3) - amounts deducted cannot be deducted again 

Section 111(1)(b) - Capital losses have an indefinite carry-forward period. Can carry them back 3 years. 

* First thing to do when you have an allowable capital loss, is to check the preceding 3 years for capital gains (can offset prior s.3(b) amounts). 

Section 111(1.1) and 111(1)(b) allow you to re-file your return for those years to reflect loss carryovers. 
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s.41 LPP losses – if loss is an LPP loss, excess LPP loss can be taken back 3 years and forward 7 years and used against LPP gains.
Tax Act "parsing"�Section s.89�Subsection s.89(1)�Paragraph s.89(1)(a)�Subparagraph s.89(1)(a)(i)


Clause s.89(1)(a)(i)(A)


Subclause s.89(1)(a)(i)(A)(I) etc.





The Tax Act


Part I s.2 to s.117 is the focus of this course


Part XVII s.248(1)  The Interpretation provision and general definitions


Section 2, Part I, Division A – Liability to tax


Section 2, Part I, Division B – Income computations


Regulations are s.100 to s.9000 – contain ammendments to the Act – need royal assent





So value of deferring consumption has been reduced by imposing a double tax on savings.  Therefore an efficiency loss in the private sector because of not enough savings.  But savings are disproportionate in hig-income individuals, so you have better distribution.  Consumption is encouraged.





There is a limited liability for loss in year 1 because the taxpayer can take loss from this investment and offset it against tax on $100 of employment income.  So now, value of loss is $50.  If you invest the $50 at an annual compound rate of 5%,   


$50 x (1.05)² = $55.12  at the end of year 3.





Do the same thing for Year 2 :  $50 x 1.05 = $52.50 at the end of Year 3. 





In Year 3, $200 profit.  Government takes $100





Brock v. MNR 1992


Brock tried to argue that in matters with interim billing, they should be counted as works in progress.  The Court said no.  If it is billed, it is a completed work and not a work in progress – s.34.  But if the person is a lawyer, litigation can be a very long process – when is the work completed?  Usually, work is completed when the file is closed and you get a settlement or a judgement.  Must look at the contract to see when work was completed.  In Brock, the lawyer said that it was ongoing litigation and the client was under a system of interim billing.  The court said that interim billing signified that at the time of the bill, all the work was completed according to schedule at the point of billing.  S.34 paragraph (a) applies only to the revenue side.  On the expense side, you can deduct as incurred including WIPs.





UCC = [A+B] – [E+F]


A – Cost of all assets acquired before the particular time – i.e. at the end of the taxation year = 10,000


B – previous recapture amount


E – all previous CCA claims (total depreciation s.13(21)


F – proceeds or disposition of any assets in the class up to their original cost less expenses of disposition 


i.e. (lesser of the proceeds of disposition – any expenses –and- the capital cost of the property).  So if the property has appreciated, it is accounted for as a capital gain.











